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Question Number : 1 Question Id : 190889742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At a place on earth a vector A points vertically upward B points towards north . The vector

product A x B is,

along west

along east

Zero

vertically downward

| =

e

Options :

1908892901. 1
1908892902. 2
1908892903. 3

1908892904. 4

Question Number : 1 Question Id : 190889742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892901. 1
1908892902. 2
1908892903. 3

1908892904. 4

Question Number : 2 Question Id : 190889743 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length and width of a rectangular plate
are (16 .30 £ 0.05 ) em and (13 .80 £ 0.05) en respectively. Area of the plate and uncertamty in
the area will be :

1. (224 9+15.05)em’

k-

(224 6+150)em”

(224 9+0.15 ) om °

e

(224 9067 )em’

Options :

1908892905. 1
1908892906. 2
1908892907. 3

1908892908. 4

Question Number : 2 Question Id : 190889743 Question Type : MCQ Option Shufflina : No Is
Question Mandatory : No - collegedunias,
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Correct Marks : 4 Wrong Marks : 1
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1, (224 9+15.05)em’

[ ]

(224 9+1.50 )em ~
3. (224 9+0.15)em °
4, (224 91067 )em’
Options :
1908892905. 1
1908892906. 2
1908892907. 3

1908892908. 4

Question Number : 3 Question Id : 190889744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dimentional formula for the coefficient of viscosity 1s :

1. [M~tL TO)

2. LT

5 [M 10 Ti]

1. IN L T
Options :

1908892909. 1
1908892910. 2
1908892911. 3

1908892912. 4

Question Number : 3 Question Id : 190889744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag
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Options :

1908892909. 1
1908892910. 2
1908892911. 3
1908892912. 4

Question Number : 4 Question Id : 190889745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person travelling on a straight road moves with umiform velocity », for some time and with

uniform velocity v, for next equal time. His average velocity v will be -

2
L 2 fa B

vV ¥ 1
2, V= \'It‘l + Vs
T.'l‘l‘l":

3. v=——
1 1. 1
=

vV ¥ 1

Options :

1908892913. 1
1908892914. 2
1908892915. 3

1908892916. 4

Question Number : 4 Question Id : 190889745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 Qcollegeduwnlam
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A
s
v Vs
Options :

1908892913. 1
1908892914. 2
1908892915. 3

1908892916. 4

Question Number : 5 Question Id : 190889746 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two bullets are fired simultancously. horizontally with different speeds and using two different
guns from the same place. Which bullet will hit the ground first?

The faster one

The slower one

Both will reach simultaneously
Depends on the mass of bullets

|

e o

Options :

1908892917. 1
1908892918. 2
1908892919. 3

1908892920. 4

Question Number : 5 Question Id : 190889746 Question Type : MCQ Optic .
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Correct Marks : 4 Wrong Marks : 1

2 el T T & afoe foen & e aw qur o e S & anany gt
Tt €| FIT e §AE § el A 0

o

. YT 9

. HUETRT

. Qe F-ETy age

. T F A W g

[ ]

Fu 2

Options:

1908892917. 1
1908892918. 2
1908892919. 3
1908892920. 4

Question Number : 6 Question Id : 190889747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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From the velocity - time plot shown in the figure, find the distance travelled by the particle
during the first 40 s.

-Sm/s

Zero

100m
150m
200m

s o

g Bk

Options :

1908892921. 1
1908892922. 2
1908892923. 3

1908892924. 4

Question Number : 6 Question Id : 190889747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892921. 1
1908892922. 2
1908892923. 3

1908892924. 4

Question Number : 7 Question Id : 190889748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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While walking on 1ce, one should take smaller steps to avoid slhipping. This 15 because,

friction 1s large
friction 1s small
normal force 1s large
normal force 1s small

|

bt

Options :

1908892925. 1
1908892926. 2
1908892927. 3

1908892928. 4

Question Number : 7 Question Id : 190889748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892925. 1
1908892926. 2
1908892927. 3

1908892928. 4

Question Number : 8 Question Id : 190889749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the carth stops rotating. the apperant value of accelaration due to gravity ‘g’ on 1t surface will

Increase everywhere

Decrease everywhere

Remain same everywhere

Increase at some places and remain the same at other places

A o

Options :

19088929209. 1
1908892930. 2
1908892931. 3

1908892932. 4

Question Number : 8 Question Id : 190889749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892929. 1
1908892930. 2
1908892931. 3

1908892932. 4

Question Number : 9 Question Id : 190889750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 ]
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Two cars having masses mj and my move in circles of radii ry and ry respectively. If they
complete the circles in equal time. the ratio of their angular speeds @1/, will be.

my/ mp
r n
miry/ mary

1

B

Options :

1908892933. 1
1908892934. 2
1908892935. 3

1908892936. 4

Question Number : 9 Question Id : 190889750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908892933. 1
1908892934. 2
1908892935. 3
1908892936. 4

Question Number : 10 Question Id : 190889751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The radius of curvature of a plano convex lens can be measured by a -

1. Vernier Calliper
2. Spherometer
3. Screw guage
4. Pyrometer

Options :

1908892937. 1
1908892938. 2
1908892939. 3

1908892940. 4

Question Number : 10 Question Id : 190889751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892937. 1
1908892938. 2
1908892939. 3

1908892940. 4

Question Number : 11 Question Id : 190889752 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A mass m 1s rotated in a verticle circle by connecting it to a light string of length [ and keeping
the other end of the string fixed. The minimum speed of the particle when the string is horizontal
for which the mass will complete the circle is -

Jal
o
-3¢l
[l

Options :

I L] [ —

1908892941. 1
1908892942. 2
1908892943. 3

1908892944. 4

Question Number : 11 Question Id : 190889752 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

4= LA ] —

1908892941. 1
1908892942. 2
1908892943. 3
1908892944. 4

Question Number : 12 Question Id : 190889753 Question Type : MCQ Opt S
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Correct Marks : 4 Wrong Marks : 1

A body falling vertically downwards due to gravity, breaks into two parts of unequal masses.
The centre of mass of the two masses taken together will -

1. shifts towards heavier mass

2. shifts towards lighter mass

3. does not shift horizontally

4. depends on verticle velocity at the time of breaking

Options :

1908892945, 1
1908892946. 2
1908892947. 3

1908892948. 4

Question Number : 12 Question Id : 190889753 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892945. 1
1908892946. 2
1908892947. 3

1908892948. 4

Question Number : 13 Question Id : 190889754 Question Type : MCQ Opt :
Qcollegedumag
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Correct Marks : 4 Wrong Marks : 1

The moment of mertia of a thin spherical shell of mass M and radius R about the diameter 1s -

1. =MR®

(Y

- MR*

[ ]
Lad

"

5 éMR:
2‘45’:
34

b

Options:
1908892949. 1
1908892950.

1908892951.

A W N

1908892952.

Question Number : 13 Question Id : 190889754 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908892949. 1
1908892950. 2
1908892951. 3

1908892952. 4
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Question Number : 14 Question Id : 190889755 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following shows graphically correct variation of gravitational potential with
distance r from the centre of the uniform thin spherical shell ? (R = radius of shell)

R
> I T > I
|
|
g v
(a) (b)
I v i
v
I |
| |
| |
H > T H > T
R R
(c) (d)
1. (a)
2 ()
3. (c)
4. (d)

Options :

1908892953. 1
1908892954. 2
1908892955. 3

1908892956. 4
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Question Number : 14 Question Id : 190889755 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options:

1908892953. 1
1908892954. 2
1908892955. 3
1908892956. 4

Qcollegedunias
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following quantities remains constant in a planetary motion as seen from the sun?
(Consider elliptical orbit)

Speed

Angular speed
Kinetic energy
Angular momentum

e e B2

Options :

1908892957. 1
1908892958. 2
1908892959. 3
1908892960. 4

Question Number : 15 Question Id : 190889756 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892957. 1
1908892958. 2
1908892959. 3

1908892960. 4

Question Number : 16 Question Id : 190889757 Question Type : MCQ Optgcqllegeduniaé
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pendulum clock keeping correct time in the surface of earth is taken to high altitude. Then -

It will keep correct time

Its length should be increased to keep correct time
Its length should be decreased to keep correct time
It can not keep correct time even if length is changed

Fd bk

ol

Options :

1908892961. 1
1908892962. 2
1908892963. 3

1908892964. 4

Question Number : 16 Question Id : 190889757 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892961. 1
1908892962. 2
1908892963. 3

1908892964. 4

Question Number : 17 Question Id : 190889758 Question Type : MCQ Optg

Question Mandatory : No 4
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Correct Marks : 4 Wrong Marks : 1

The three vessels shown in the figure have same base area. Equal volumes of water are poured
the vessels. The force on the base will be -

Maximum m A
Maximum m B
Maximum mn C
Equal in all vessels

P sl D

Options :

1908892965. 1
1908892966. 2
1908892967. 3

1908892968. 4

Question Number : 17 Question Id : 190889758 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892965. 1
1908892966. 2
1908892967. 3

1908892968. 4

Question Number : 18 Question Id : 190889759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire can sustain the weight of 20 kg before breaking. If the wire 15 cut nto two equal pieces.
each part can sustain a weight of

10 ke
20 ke
40 kg
80 kg

|

e

Options :
1908892969. 1

1908892970. 2
P collegedunia
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1908892972. 4

Question Number : 18 Question Id : 190889759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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10kg
20ke
40kg
80 kg
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Options :

19088929609. 1
1908892970. 2
1908892971. 3

1908892972. 4

Question Number : 19 Question Id : 190889760 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphere falls with a terminal velocity of 20 m/s 1 air. If 1t 1s now allowed to fall in
vacuum

terminal velocity will be 20 m/s

terminal velocity will be less than 20 m/s
terminal velocity will be more than 20 m's
there will be no terminal velocity

o

ol

Options :

1908892973. 1

1908892974, 2

1908892975. 3

1908892976. 4 Qcollege dunias
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Question Number : 19 Question Id : 190889760 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WWWTETﬁEOmﬁ?mWFﬁIW?Iqﬁmﬁﬁﬁhﬁﬁﬁﬁ
HATT & e g

: Hﬁﬂ'a?TEOmsm

2. HOH 20 ms T F7 ge

. mmlﬂnnﬂmm
. FE Hf5® F9r 7 gem

Options :
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[ N

1908892973. 1
1908892974. 2
1908892975. 3

1908892976. 4

Question Number : 20 Question Id : 190889761 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following graphs represent the relation between capillary r1se h and the radius r of
the capillary?

h 4
D

C
A

B

> T

E. B
26
3. B
4. A
Options :

1908892977. 1
1908892978. 2
1908892979. 3
1908892980. 4

Question Number : 20 Question Id : 190889761 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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L. B
s
X: B
4. A
Options :

1908892977. 1
1908892978. 2
1908892979. 3

1908892980. 4

Question Number : 21 Question Id : 190889762 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two strings A and B. made of same material, are streched by same tension. The radms of A 15
double of the radius of B, A transverse wave travels in A with speed vy and in B with speed vg.
The ratio va/vg 15

| S

fa Lad D
e b = =

Options :

1908892981. 1
1908892982. 2
1908892983. 3

1908892984. 4

Question Number : 21 Question Id : 190889762 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892981. 1
1908892982. 2
1908892983. 3

1908892984. 4

Question Number : 22 Question Id : 190889763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag
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A small souree of sound moves on a circle as shown in figure and an observer 1s sittingat O.
Letva.vg and vc be the frequencies heard when the source 1s at A, B and C respectively. We can
then say :

B
JC 0
A
1. vy>vg >2v¢
2. Wa=vp >
3. Vg>ve >y
4, v >2vc >vp

Options :

1908892985. 1
1908892986. 2
1908892987. 3

1908892988. 4

Question Number : 22 Question Id : 190889763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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JE 0

Va> Vg > V¢
Va=Vvg >
Vg > Ve > Uy

el o e

Vi >V >0

Options :

1908892985. 1
1908892986. 2
1908892987. 3
1908892988. 4

Question Number : 23 Question Id : 190889764 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the temperature of a uniform rod 1s slightly iereased by At. its moment of inertia | about a
perpendicular bisector will increases by, (L = length of rod, = = coefficient oflinear expansion)

Zero

u L At
2al At
JalAt

[

[ ]

Options :

P collegedunia

~



1908892990. 2
1908892991. 3

1908892992. 4

Question Number : 23 Question Id : 190889764 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892989. 1
1908892990. 2
1908892991. 3

1908892992. 4

Question Number : 24 Question Id : 190889765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following parameter is the same for molecules of all gases at a given temperature?

density

speed
momentum
kinetic energy

bl

e tas

Options :

1908892993. 1

1908892994, 2
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1908892996. 4

Question Number : 24 Question Id : 190889765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. gdcd
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Options :

[ -

1908892993. 1
1908892994. 2
1908892995. 3

1908892996. 4

Question Number : 25 Question Id : 190889766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Cp andCy denote molar heat capacities of an 1deal gas at constantpressure and constant
volume respectively. Which of the following is auniversal constant?

hou e b
]
=1

Options:

1908892997. 1

1908892998. 2

1908892999. 3

1908893000. 4 Qcollegeduniag
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Question Number : 25 Question Id : 190889766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892997. 1
1908892998. 2
1908892999. 3

1908893000. 4

Question Number : 26 Question Id : 190889767 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an electron are placed in an electric field. Then we can say -

1. The electric force acting on them are equal

2. The magnitude of the forces are equal

3. Their accelaration are equal

4. The magnitude of their accelaration are equal
Options:

1908893001. 1
1908893002. 2
1908893003. 3

1908893004. 4

Question Number : 26 Question Id : 190889767 Question Type : MCQ Opt’ huffli .
Qcollegedumag

Question Mandatory : No

~



Correct Marks : 4 Wrong Marks : 1

T SIefd JUT UF Foladld UF f9ggd & # @ § | 9 &7 F¢ 8 ¢ -

(==

. 3W W HiHT faggd 90 &l g
. F FT IHAT T Z

3. 3 T T

4. 3% FT0T FT YA T 2|

[ ]

Options :

1908893001. 1
1908893002. 2
1908893003. 3

1908893004. 4

Question Number : 27 Question Id : 190889768 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A uniform electric field of magnitude E = 100 N/C exists i the space in X - direction. Calculete
the flux of this field through a plane square area of 10 em” placed in Y - Z plane

1.0Nm’/C
10N m’/C
10*N m’/C
0.01 N m’/C

[ A

Options :

1908893005. 1
1908893006. 2
1908893007. 3

1908893008. 4

Question Number : 27 Question Id : 190889768 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
W collegedunia:
Correct Marks : 4 Wrong Marks : 1 Q.nd.a-slarges.gudemm -

~



X - # ™ T W E =100 N/C IRAWT 7 0F TAF faega & fTud §) vz
TAAT H TW 10em’$ FAAA 39 TG & IR T el HFIE 70T FY

1.0 Nm/C
10N m’/C
10*Nm’/C
0.01 N m’/C

bl ek

Options :

1908893005. 1
1908893006. 2
1908893007. 3

1908893008. 4

Question Number : 28 Question Id : 190889769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equivalent capacitance of the combination shown in figure 1s -

C
| |
1 |
C
] 1
|
C
1. €
2, 2
3. C2
4. 3C
Options :
1908893009. 1 Q collegedunias

1908893010. 2 -



1908893011. 3
1908893012. 4

Question Number : 28 Question Id : 190889769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fry & femre agen i Jou aftar & -

C
| |
||
C

] |
| |
C

| FO

Z.. 10

3. Cf2

4. 3C

Options :

1908893009. 1
1908893010. 2
1908893011. 3

1908893012. 4

Question Number : 29 Question Id : 190889770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The current supplied by the battery in the circuit shown in the figure 1s, (neglect internal

resistance of the battery)

120

3{ 120 | 12Q

12Q

1.0A
316 A
3/12A
3/6 A

I N R S R

Options :

1908893013. 1
1908893014. 2
1908893015. 3
1908893016. 4

Question Number : 29 Question Id : 190889770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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fra av o & ooy & b aEm o i ol E Eh f sehe SiReeE
0T )

120
VW
% % 120
W 1na | 120
1. 1.0A
2. 316A
3. Y12A
4, 36 A
Options :

1908893013. 1
1908893014. 2
1908893015. 3

1908893016. 4

Question Number : 30 Question Id : 190889771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two resistors R and 2 R are connected i parallel n an electric circuit. The thermal energy
developed in R and 2 R are in the ratio :

e =

1 : 4
1 B |
3. 2
4, 1:1

el )

Options :
1908893017. 1

1908893018. 2 Q collegedunias
1908893019. 3 -



1908893020. 4

Question Number : 30 Question Id : 190889771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T% faegd o9y & 2 9ioRivs RAW 2R EFAN FE §| A9 FA RFA2RE
FFe e & 39 2T £ -

b

| ]

e —
—

[ = ]
—_

Options:

1908893017. 1
1908893018. 2
1908893019. 3
1908893020. 4

Question Number : 31 Question Id : 190889772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cell of 2 V and internal resistance 0.5 Q connected across a resistance of 9.5 . How many
electrons cross through a cross - section of the resistance in 1 second ?

125x 10"
1.25x 10"
1.25x 10"
125x10%

b —

s g

Options:
1908893021. 1
1908893022. 2

1908893023 3
1908893024, 4 Q collegedunia;

~



Question Number : 31 Question Id : 190889772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2VEH T T 0.5 QF HANF FFeki 05 0 F Ffady &3 §1 3503 & 9fey &
FITEIEUS ¥ fhae soge o

125x 10"
125 x 10
1.25x 10"
1.25 x 10%

B =

b

Options :

1908893021. 1
1908893022. 2
1908893023. 3

1908893024. 4

Question Number : 32 Question Id : 190889773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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What will be reading of the Voltmeter in the circuit shown below? Resistance of the voltmeter 15
600 Q.

@600{}

i

VWA VWA
300Q 200Q

| "100v

60V
5V
50V
40V

e e R

Options :

1908893025. 1
1908893026. 2
1908893027. 3

1908893028. 4

Question Number : 32 Question Id : 190889773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A fe@w a9y & JecAdT FUST FAT ZEM? oA F FaT 600 Q F

600 Q
©

VW VWA
3000 200Q

| "100v

60 V
B3V
50V
40V

e Lo bo =

Options :

1908893025. 1
1908893026. 2
1908893027. 3

1908893028. 4

Question Number : 33 Question Id : 190889774 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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The equivalent resistance of the network shown in the figure below between the points a and b
18,

20
320
40
Zero

b =

R b

Options :

1908893029. 1
1908893030. 2
1908893031. 3

1908893032. 4

Question Number : 33 Question Id : 190889774 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A for B # o Rt a T v F i ATEd F JeT wiaw § -

2Q
320
4Q

=

B N I

Options :

19088930209. 1
1908893030. 2
1908893031. 3

1908893032. 4

Question Number : 34 Question Id : 190889775 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A room heater 15 rated 500 W, 200 V. If the supply voltage drops to 100 V., what will be the
power consumed?

1. 500 W
2. 250W
3. 125W
4. Zero
Options : i
ptions Qcollegedunlaé

1908893033. 1 -



1908893034. 2
1908893035. 3

1908893036. 4

Question Number : 34 Question Id : 190889775 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et FAT F 8T F AT 500 W.200 VR TfE TaITeT Steear 100V S £ suA
Tua 2 T faega # A ae -

500 W
250W
125W

il

b

= ]

Options:

1908893033. 1
1908893034. 2
1908893035. 3

1908893036. 4

Question Number : 35 Question Id : 190889776 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Three particles : electron. proton, He' are projected with same velocity perpendicular to a
uniform magnetic field. Which of them will deseribe the smallest cirele?

electron

proton

He

All will describe circle of same radius

R

Options :
1908893037. 1

1908893038. 2 Q collegedunias
1908893039. 3 )}



1908893040. 4

Question Number : 35 Question Id : 190889776 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e U Foregiat. Sielet, He' 1 HAEY Traehid &1 & Hf3ewd FAW 41 § 81t
AT ST €1 3H ¥ FiF T FHeAH Jed H AT 2

1. goFgd
g

3. He
. T WA F e & 2

[ ]

.

Options :

1908893037. 1
1908893038. 2
1908893039. 3
1908893040. 4

Question Number : 36 Question Id : 190889777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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Figure shows a current loop having two section of circular loops joined by two radial lines. The
net magnetic field at the centre O 1s,

1. B#gl(b “ﬂ]
dmab

9 Hﬂgl(b _ﬂ:]
2mab

3. Gppi(b—a)
mab

4. Zero

Options :

1908893041. 1
1908893042. 2
1908893043. 3

1908893044. 4

Question Number : 36 Question Id : 190889777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag
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fory forrar & &% v arw arer gigedia W T@ar g S &t e Yt gan S
I F% O T T &7 ¢

Options :

1908893041. 1
1908893042. 2
1908893043. 3

1908893044. 4

Question Number : 37 Question Id : 190889778 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No y
Y collegedunia:s
correct Marks : 4 Wrong Marks : 1 India’s largest Student Review Platform
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The magnetic susceptibility 1s negative for.

Paramagnetic materials only

Diamagnetic materials only
Ferromagnetic materials only
Paramagnetic and ferromagnetic materials

|

5w

Options :

1908893045. 1
1908893046. 2
1908893047. 3

1908893048. 4

Question Number : 37 Question Id : 190889778 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFEIhIT GATedl 5087 § Fas T Homeas ¢ -

1. I T FFahg ey & v

2. FI FfEEhT Tgrd F v

3. %ad dig Fahg Terd F o

4. SOEFEHT FUT SE gEER e F v

Options :

1908893045. 1
1908893046. 2
1908893047. 3

1908893048. 4

Question Number : 38 Question Id : 190889779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two conducting circular loops of radii Ry and R, areplaced in the same plane with their
centres coineiding. The mutual inductance between them will be, (Ry <<R;)

| HomR]

R,
) ﬂﬁﬁgg

z, Z
3 _“,:}JTRJ_:
2R,
som RS

4 2R,

Options :

1908893049. 1
1908893050. 2
1908893051. 3

1908893052. 4

Question Number : 38 Question Id : 190889779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R; FIT R, =1 & & WGe Jedld T TAA THAA & 3% WOl gl W W@
M §| 395 9 WER JRARS g9, (Ry <<R)

i j!a]TR;
R,
a purng
Ry
3 MomRy
2R,
uom RS
i R
2R,
Options :

1908893049. 1
1908893050. 2

1908893051. 3

1908893052. 4 Q collegedunias
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Question Number : 39 Question Id : 190889780 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An alternating current having peak value of 14A 1s used to heat a metal wire. To produce the
same heating effect. 1f we use constant current 1, then 1 will be nearly -

14A
20A
TA

10A

e L b

Options :

1908893053. 1
1908893054. 2
1908893055. 3

1908893056. 4

Question Number : 39 Question Id : 190889780 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4AS T A I Tedmad! 9N T 91 A% A TH A F o 589 g g
A JHT YT F 309 I F o0, I 77 THREAR O YA #7959
F1 foeam 7 g 2

14A
204
TA

10A

o

:[_~..l-'__.l_|

Options:

1908893053. 1
1908893054. 2
1908893055. 3

1908893056. 4

% collegedunias
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ac voltage across a resistance can be measured using

1. A potentiometer

2. Moving coil galvanometer

3. A hot wire voltmeter

4. A moving magnet galvanometer
Options :

1908893057. 1
1908893058. 2
1908893059. 3

1908893060. 4

Question Number : 40 Question Id : 190889781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfaf@a & ¥ FeF 799 ¥ 930y F ¥R Uoarad! uRT aleed ATdr o
THT § -

1. % e

TAIATT S AoaallAeT

3. TF T aR oA

4. U FoAR TFahid AedaliAe]

[

Options :

1908893057. 1
1908893058. 2
1908893059. 3

1908893060. 4

Question Number : 41 Question Id : 190889782 Question Type : MCQ Opt :
Qcollegedumag

Question Mandatory : No

~



Correct Marks : 4 Wrong Marks : 1

If the frequency of light in a photoelectric experiment is doubled, the stopping potential will

be :

1. doubled

2. more than double
3. half

4, less than double
Options :
1908893061. 1
1908893062. 2
1908893063. 3

1908893064. 4

Question Number : 41 Question Id : 190889782 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ATE FaHTer ST TN A TH H AFfed SIS ¢, ar e fawa ghm
1. e

. I ¥ A

3. e

:Eﬂ?ﬁ?m

[ ]

o

Options :

1908893061. 1
1908893062. 2
1908893063. 3

1908893064. 4

Question Number : 42 Question Id : 190889783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qﬁo!lesg?qu':'fa
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§ , . P, i i 2 -
Assuming Bohr's model, the radius of Li" " 10ns in its ground state will be, (ground state radis of
hydrogen atom is 5.2 x 10" m)

52x 10'11111
104x10Mm
15.6x 10
1.8x 10 m

e —

Options :

1908893065. 1
1908893066. 2
1908893067. 3
1908893068. 4

Question Number : 42 Question Id : 190889783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1ET Al F AR LiT 70 Fr B 39l sqeataa sEe & @9l @msew
TH] $ Hefedterd HTwAT Heam5.2x 10" 'm)

52x10Mm
104x10Mm
15.6x10Mm
18x 10 m

J el bl

Options :

1908893065. 1
1908893066. 2
1908893067. 3
1908893068. 4

Question Number : 43 Question Id : 190889784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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As the mass number A inereases, which of the following quantities related to a nueleus do not
change?

mass
volume
density

binding energy

bt —

P o

Options :

1908893069. 1
1908893070. 2
1908893071. 3

1908893072. 4

Question Number : 43 Question Id : 190889784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A TEAT & 3¢ 39 W Fe5F § TA rondd # ¥ Fa-8 AW & 9fEaa
T T 8

1. @A
AT d=

3. 99
4, TIT FaT

[ ]

Options :

1908893069. 1
1908893070. 2
1908893071. 3

1908893072. 4

Question Number : 44 Question Id : 190889785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qﬁo!lesgdecjuqlfa

~



In which of the following decays. the element does not change?

a -decay
B - decay

1

2

3. J -decay

4. y-decay
Options:
1908893073. 1
1908893074. 2
1908893075. 3
1908893076. 4

Question Number : 44 Question Id : 190889785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T=faf@a FiF ¥ &899 # 93 fEafda & gar

1. -89
g -&aa
3. -89
y- &1

¥

| ]

e

Options :

1908893073. 1
1908893074. 2
1908893075. 3

1908893076. 4

Question Number : 45 Question Id : 190889786 Question Type : MCQ Option Shuffling : No Is

°
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In communication system, the device which is used to convert one form of energy into another is
known as -

transducer
transmitter
modulator
repeater

e e BT e

Options :

1908893077. 1
1908893078. 2
1908893079. 3
1908893080. 4

Question Number : 45 Question Id : 190889786 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T TYIUT GUTET & R 3o & UF W9 # g # el W § TEd 3
T IR 7 -

Options :

1908893077. 1
1908893078. 2
1908893079. 3
1908893080. 4

Question Number : 46 Question Id : 190889787 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 .
% collegedunias
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A thin lens of focal length +10cm 15 immerse 1n a transparent liquid ( i = 1.2). Its new focal length
will be - (for glass = 1.6)

10 cm
12 em
18 cm
20 cm

S R R

Options :

1908893081. 1
1908893082. 2
1908893083. 3
1908893084. 4

Question Number : 46 Question Id : 190889787 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

—i—lﬂcmm {?f $ Th m ?l'\q' aﬂ. Wﬂﬁ a,?q- (‘H = 1:)# ?otlﬂr-;dd ﬁﬂ_‘m‘ Jldl ?!
3! AT Prbel &3 g (P F T = 16)

10 cm
12 em
18 cm
20 ¢m

O U S —

Options:

1908893081. 1
1908893082. 2
1908893083. 3
1908893084. 4

Question Number : 47 Question Id : 190889788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qcollegedumag
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Two sources are called coherent if they produce waves :

of equal wavelength

of equal velocity

having same shape of wavefront
4. having a constant phase difference

b

L]

Options :

1908893085. 1
1908893086. 2
1908893087. 3

1908893088. 4

Question Number : 47 Question Id : 190889788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3l T HEFS Feold & T § F36 399 FId &

1. WA a1 &e arel

2. THATA JT Jrer

3. T F AT HTRE T@adTer
4. TF WA % JaL @A

Options :

1908893085. 1
1908893086. 2
1908893087. 3

1908893088. 4

Question Number : 48 Question Id : 190889789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following phenomena confirms that light 1s a transverse wave:

1. Interference
2. Diffraction
Reflection
Polarization

il

Options :

19088930809. 1
1908893090. 2
1908893091. 3

1908893092. 4

Question Number : 48 Question Id : 190889789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafafEd # ¥ 719 @ Tieear @ FuifE g § & 99 o smey a g

).
3. WEaT
4, YT

-

Options :

1908893089. 1
1908893090. 2
1908893091. 3

1908893092. 4

Question Number : 49 Question Id : 190889790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Let 1. 1. and 1, represent the emitter current. the collector current and the base current
respectively in a transistor. Then we can say

¢ 15 slightly smaller than 1.
ic 15 slightly greater than 1
ip 15 slightly greater than i
i 15 slightly greater than 1,

b =

i o

Options :

1908893093. 1
1908893094. 2
1908893095. 3
1908893096. 4

Question Number : 49 Question Id : 190889790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A o F i1 3T o Rl SforeT & FR So0eE O TS O A AW
URT T Siafaftieed Fd &1 79 &8 FF Thd & .

L i i3 Y& 918 B
2. i LT 3YET ATE FETE
3. iy, ic T ST 4 T
4. iy i, PT HUET U

Options :

1908893093. 1
1908893094. 2
1908893095. 3
1908893096. 4

Question Number : 50 Question Id : 190889791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegedunlag
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The truthtable given below represents the logic gate:

Input | Output

A

Y

== oo

el =l =R v
o= ==

b =

Lo

NOR
NAND
OR
NOT

Options :

1908893097. 1

1908893098. 2

1908893099. 3

1908893100. 4

Question Number : 50 Question Id : 190889791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & It Tog o dites e gt ¢

3meTa | fereta
A | B Y
0 |0 1
0 |1 1
1 | o 1
! 0
1. NOR
2. NAND
3. OR
4, NOT
Options :

1908893097. 1

1908893098. 2

1908893099. 3
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1908893100. 4

Part B Chemistry

Section Id : 19088928
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 19088954
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 190889792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following polymers 1s NOT an example of chain growth polymerization?

Polythene
Bakelite

Teflon
Polyacrylonitrile

b

s

Options :

1908893101, 1

1908893102. 2

1908893103. 3

1908893104, 4 Qcollegeduniag
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Question Number : 51 Question Id : 190889792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FAffed # @ T @ agF 4T 3fg TGP H 3T FeT £

Options :

1908893101. 1
1908893102. 2
1908893103. 3

1908893104. 4

Question Number : 52 Question Id : 190889793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the given reaction:

1.Conc.H2504
2. Ag. NaOH

CH3({CH2)4gCH>0OH

'A'1s:

Sodium salt of alcohol
Non-ionic detergents
Cationic detergents
Anionic detergents

b =

W

Options :
1908893105. 1
1908893106. 2

1908893107. 3
1908893108. 4 Q collegedunias
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Question Number : 52 Question Id : 190889793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a1 1 wfAfRar 7

1 Cone. H2504

CHa(CH CH20OH
3 2)10 2 2. Aq. NaOH

‘Al gl
1. UcHIgd &1 ST J9o7

2. EAIEEAF ITATS

. YATgfAS FIHATSS
4. HOTATSAF HTATAF

Options:

L)

1908893105. 1
1908893106. 2
1908893107. 3

1908893108. 4

Question Number : 53 Question Id : 190889794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match the chemical composition in List I with its name in List IT

List I List I

‘Chemical Composition .Reagent

A Benzeneaulpliony] chloride I Tollen’s reagent

B Anhydrous ZnCl + Cone. HC1 II Fehling A solution
C. Ammonical silver nitrate L. Hinsberg’s reagent
fD. Aqueous CuSOy solution IV. Lucas reagent |

Choose the correct answer from the options given below:

A-IV, B-III. C-I. D-II
A-IIT. B-IV, C-I. D-II
A-III, B-IV, C-II, D-I
A-L B-II. C-IV. D-III

de T b =

Options :

19088931009. 1
1908893110. 2
1908893111.3

1908893112. 4

Question Number : 53 Question Id : 190889794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TE 18 T v mentas guea 7 gE -0 & T v 59 AW ¢ gafen fifev

T -l %ﬁh -1I
T FoeA i
A FrATTERITT FANEE 1 S A
B. 9% ZnCl, + WTeg HCI I1. e A forergat
C. s e dEE 1. f=maer 3T
D. Cus0, 1 ST Frert IV, 5HE HFFHE
A U T et & ¥ W 3o v

1. AV, B-IL CL DI

A-IIL B-IV, C-L. D-II
3. AL B-IV, C-II. DI
4. A-LB-II C-IV, D-III

Options :

19088931009. 1
1908893110. 2
1908893111. 3

1908893112. 4

Question Number : 54 Question Id : 190889795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Benzoie acid and phenol can be distinguished in laboratory on the basis of:
A. Sodium bicarbonate test

B. Bromine water test

C. Tollen’s test

D. Luecas test

Choose the correct option from the options given below:

1. Aonly
2. AandB only
3. Aand C only

o

B and C only
Options :
1908893113. 1
1908893114. 2
1908893115. 3

1908893116. 4

Question Number : 54 Question Id : 190889795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Troled T AN P H g T § —— & IUR W ek T o

/R £l

A WA SEFTElAC THET0T

B. Sl STl adveror

C. TTeleT SvaToT

D. #g&HH e

ARy R o et # & wad 3R R 7

1. Fad A

2. AT A NN B
3. FadAHR C
4. FIABHR C

Options :

1908893113. 1
1908893114. 2
1908893115. 3

1908893116. 4

Question Number : 55 Question Id : 190889796 Question Type

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

M
H;C@CODI—E B o B

The number of spz hybridized carbons in ‘B’ 1s:

o

-1

fad o b

e
Lh 00

: MCQ Option Shuffling : No Is

°
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Options :

1908893117. 1
1908893118. 2
1908893119. 3
1908893120. 4

Question Number : 55 Question Id : 190889796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fAfof@a sffFar 7 -

HHg A
HaC COOH =——= A — = B

‘B'H sp' GHIT el $T TEAT & :

o Lo b
L G0 =1 Th

Options :

1908893117. 1
1908893118. 2
1908893119. 3
1908893120. 4

Question Number : 56 Question Id : 190889797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Consider the following reaction:

Hy H

B - H4C-C=C-CHa 2 A
Na / Lig. NH, Pd/C

Y

The products ‘A’ and ‘B’ are:

Identical compounds
Optical 1somers
Geometrical 1somers
Structural 1somers

L

e

Options :

1908893121. 1
1908893122. 2
1908893123.3

1908893124. 4

Question Number : 56 Question Id : 190889797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArataf@a sfafear 7.
Ho
B - < H,C-C=C-CH, A2 >
Na / Lig. NH4 Pd/C

3K ‘A’ 3R B’ &

1. AT AifEFE
Ui gATEIT
. SOTATT gATgag

4. EIIATCHS GATEGIT

| ]

Fal

Options :
1908893121. 1
1908893122. 2

1908893123. 3

1908893124. 4 .
collegedunia:s
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Question Number : 57 Question Id : 190889798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not react with sodium metal?

Ethyne

1-Pentyne
2-Pentyne
1-Propyne

L B

e

Options :

1908893125. 1
1908893126. 2
1908893127. 3

1908893128. 4

Question Number : 57 Question Id : 190889798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafof@a # ¢ Fi9 &1 3T |iftgs arg & HiafeRar @@ Far ¢ 0

1. TUTSS
1- 9=eT8aT
3. 2-YearEd
1 - JraTE

Options :

| ]

-

1908893125. 1
1908893126. 2
1908893127. 3

1908893128. 4

Question Number : 58 Question Id : 190889799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No y
Y W collegedunia:
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For the detection of carbon 1n organic compounds. it 1s first treated with reagent ‘X’ on heating
to get COy. X' 15

CmO

CuO

CuS0Oy
CuS04.5H,0

Kol bk

it

Options :

1908893129. 1
1908893130. 2
1908893131.3

1908893132. 4

Question Number : 58 Question Id : 190889799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fefes T § F6a F 799 F 0 FEaF 3T 7 X F qY WH
A WCO,TIFNEN X &

CwO

Cn0O

3. CuS0y

4, CuSO45H0

b

Options :

1908893129. 1
1908893130. 2
1908893131.3

1908893132. 4

Question Number : 59 Question Id : 190889800 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ninhydrin reacts with amino acid to form colored complex. The equivalent ratio of ninhydrin
and amino acid used in the reaction 1s respectively:

B
—t
[ ]

o Ll -
—
]

Options:

1908893133. 1
1908893134. 2
1908893135. 3
1908893136. 4

Question Number : 59 Question Id : 190889800 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s e 3w ¥ Ty WA N T Secoy g g1 39 A
7 AEsiEa AT e 3 A e HAT FA £

e Laa D
| -
f—

Options :

1908893133. 1
1908893134. 2
1908893135. 3

1908893136. 4

Question Number : 60 Question Id : 190889801 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one is labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: g-D-Glucose 1s a dextrorotatory compound.
Reason R: The notation ‘D’ n ¢-D-Glucose represents its dextrorotatory nature.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 1s correct

[

TSN

Options :

1908893137. 1
1908893138. 2
1908893139. 3
1908893140. 4

Question Number : 60 Question Id : 190889801 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 3 FYA U 0§ 0F Fr JWFUA (A) 3 I F FWOT(R) FT A g

m{A):a-D-mewwmmgl
FRT(R) : 0-D - TAFR H Fhelel 'D' ETETT 0T YOI FHfd FT FAT &

mwﬁmwﬁﬁvwﬁmﬁ#mﬁmﬁmaﬁgﬁ:

1. (A3 (R) S FEr & 3R (R). (A) Fr TE TrET £

2. (A) 3R (R) 2T T § R (R). (A) T HEr SHEAT W g
3. (A) W § Red (R) FeT T gl

4. (A)TE AE § Ted (R) T 8

Options :

1908893137. 1 Q collegedunia:s
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1908893138. 2
1908893139. 3

1908893140. 4

Question Number : 61 Question Id : 190889802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the anomeric carbon in the given structure of a-D-glucopyranose.

g
CH >OH

1
C2 and C3
C4 and C5
C6

| ]

et

Options:

1908893141. 1
1908893142. 2
1908893143. 3

1908893144. 4

Question Number : 61 Question Id : 190889802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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¢-D - TSRS FT &1 78 AT A CAARE FHaad P I8l

2. C23RC3

3
4. Co

Options:

1908893141. 1
1908893142. 2
1908893143. 3

1908893144. 4

Question Number : 62 Question Id : 190889803 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Do
, undergoes cleavage in the presence of HU/A to give:

CHal + @DH
CH20H + @|

|
oL
ows O

OC

[ ]

Ol

(e

4.
Options :
1908893145. 1

1908893146. 2 .
collegedunia:s
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1908893148. 4

Question Number : 62 Question Id : 190889803 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q_CHEG@. HUA $r 3ufeufy & Rafagesx & &

[ ]
g ]
=
(]
Q
T
k

Options:

1908893145. 1
1908893146. 2
1908893147.3

1908893148. 4

Question Number : 63 Question Id : 190889804 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds in inereasing order of acidity:

oH OH OH OH
o i NO» l i ALHy
A- i ; B- 7 C- H D-

1. BROUaEA<H

3 C<D<A=<B

3. D<A<B<C Q ;
4. A<D<B=<C < collegeduma
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Options :

1908893149. 1
1908893150. 2
1908893151. 3
1908893152. 4

Question Number : 63 Question Id : 190889804 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FTaT@g i & 3=gdr & §ed 5 & Iareyd #:Y

OH

= i NO; i LHj
A- @ ; B- ; C- T

¥

1. D<Cx<A<B

2. C<D<A<B

3. D<A<B<C

4, A<D<B<E
Options :

1908893149. 1
1908893150. 2
1908893151. 3

1908893152. 4

Question Number : 64 Question Id : 190889805 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

A

@ H 50y + HNOy ~ @
N2

ListI List IT
Reaction Type of reaction
MO MO

I. Nucleophilic substitution

/\I/ Alc. KOH P
B Br

II. Saytzetf elimination

D).

OH
NaOH i g
e ITI. Electrophilic addition
High Temp.
c. NO; NO2
Bf ag [l '
e e HBr o~ IV Electrophilic substitution

Choose the correct answer from the options given below:

1. A-IL B-IV, C-III. D-I
2. A-IV. B-II, C-III. D-1
3. A-IV. B-II C-I. D-III
4. A-IL B-IV. C-1. D-III

Options:

1908893153. 1
1908893154. 2
1908893155. 3

1908893156. 4

Question Number : 64 Question Id : 190889805 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g -1 & s sfdfEast sy -0 A e v 39 en @ gafaa fivw
:@-1 i‘[j-ﬁ-u
e e @1 AR

NG, NQy

@ N @ 1. Afeeel Sfwme
NO;

A

NcKOH |
/\Blr/ —— 7 ¥ e
B

OH
NaOH | -
_ 1. 333@35}'&-‘ Hholed
High T emp.
NO, NO,

L G

Br ..
o M IV GeRe Siaeme

.D
A T 710 faFedt & & E 3o} gAv

A-TIL B-IV, C-IIL D-1
A-IV, B-II, C-IIL. D-I
A-IV, B-II, C-I. D-III
A-TIL B-IV, C-1. D-III

B o I

Options :

1908893153. 1
1908893154. 2
1908893155. 3

1908893156. 4

Question Number : 65 Question Id : 190889806 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For the given reaction:

o OH
1. NaQOH, 300 atm, High Temp.
2. H*

)

The rate of the reaction will be maximum. when “3X 1s:

H

NO;
CN
COOH

|

5o

Options :

1908893157. 1
1908893158. 2
1908893159. 3

1908893160. 4

Question Number : 65 Question Id : 190889806 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR T =
i OH
1. NaOH, 300 atm, High Temp. .
2 H* -
X X

HTATRAT Fr afa FThad gel. JF X 819 ;

H

NO»
CN
COOH

Fu Lo b

Options :

1908893157. 1
1908893158. 2 Q collegedunia:

~



1908893159. 3
1908893160. 4

Question Number : 66 Question Id : 190889807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Select the incorrect option for the role of addition of phosphates 1n water.
1. Enhances algae growth.
2. Reduces the oxygen concentration in water.

Causes Eutrophication.
4. Purification of water.

L]

Options :

1908893161. 1
1908893162. 2
1908893163. 3

1908893164. 4

Question Number : 66 Question Id : 190889807 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ut # BrEhe e i q{fFEE & o wea RFew &1 a3d F

[

darer Fr g FaT &

. U F 3t fr Figar gerdr g
. T (FERRER) T E

4. GIATHT ARGHIOT FIe g

[ ]

faa

Options :
1908893161. 1
1908893162. 2

1908893163. 3
1908893164. 4 Q collegedunia:s
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Question Number : 67 Question Id : 190889808 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following amines:

CH NH, @—HH~ |:|4<i>—m-|;_ HC@‘NHE
A~® “: B- ‘; C- % 4 : D-

The basic strength of these amines in increasing order 1s:

. E<B<A<B

2. D<B<C<A

3. C<D<B<A

4. D<C<B<A
Options :

1908893165. 1
1908893166. 2
1908893167. 3

1908893168. 4

Question Number : 67 Question Id : 190889808 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArtafad v Jo

CHsNH. @—HH; El—@—ﬂﬂ HE—@-’NH"
J&-@ a7, g . C R e .

s v F AT arigar FseaTFH g

1. C<D<A<B
2. DERSCCA
3. CXD<B<A
4. D<C<B<A

_ Qcollegedunias
0 ptlons : India’s largest Student Review Platform

~



1908893165. 1
1908893166. 2
1908893167. 3

1908893168. 4

Question Number : 68 Question Id : 190889809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Tons of the same charge in a 3d series show progressive decrease n radms with
mereasing atomic number,

Reason R: As the new electron enters in a d-orbital. the nuclear charge mereases by unity.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A 1s not correct but R 1s correct

o

s L

Options :

19088931609. 1
1908893170. 2
1908893171.3

1908893172. 4

Question Number : 68 Question Id : 190889809 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A1 & FuaT fov v § : vF A AARYT (A) 3R GE FT FROT (R) FET T £

Hﬁ?ﬂﬂ(amdﬁxﬁ#mmﬂmmmgmma:wﬁm#
Teica? FAT 2 ¥

FOT(R) : 3 & T SolFera d 3ifaee F 999 T £ A7 339 7 597
e g I gl

IET FUA F A & e e # ¥ 5 e 9

[E—

A) T (R) A T E AT (R, (A) Fr T e
)

-
- (A) AT (R) A T T (R). (A) F FEY e 7@ R
-
.

[ -]

L]

A) 8! § g (R) HE A 2
A) B8 78 € Teg (R) T 2

Options :

o

1908893169. 1
1908893170. 2
1908893171. 3

1908893172. 4

Question Number : 69 Question Id : 190889810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following noble gases has highest positive electron gain enthalpy?
Ne
Ar
Kr
Xe

N T A

Options :
1908893173. 1
1908893174. 2

1908893175. 3
1908893176. 4 Q collegedunia:s
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Question Number : 69 Question Id : 190889810 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faeafof@a # @ 5 3cpee 39 1 goidee wfey Toed Had H#Us oaeRs 7 0

1. Ne
2. Ar
Kr
Xe

ke b

Options :

1908893173. 1
1908893174. 2
1908893175. 3
1908893176. 4

Question Number : 70 Question Id : 190889811 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match the compound given in List I with its formula given 1n List IT

ListI List IT
Compound Formula

A Fluorspar I. CaFs

B. Cryolite I1. Ca3(PQ4)2.CaF>

C. Fluoroapatite [III. KC1.MgCl,.6H,0
D. Carnallite IV. NasAlFs

Choose the correct answer from the options given below:

1. A-IL B-IV. C-1. D-III
2. A-L B-IV, C-IIL D-I
3. A-IL BAIIL C-L D-IV
4. A-L B-IV. C-IL D-II
Options:
1908893177. 1 Qcollegeduniag

1908893178. 2 <



1908893179. 3
1908893180. 4

Question Number : 70 Question Id : 190889811 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gEr -1 # for av diffwr o=@ -0 F gEr @ e w1

T -1 T -1

Iiffrs el

A. FARTIR I. CaF;

B. FTATEEE II. Cas(POy)2.CaF;

C. FIRITUCIET II. KC1.MgCl.6H:0
D. FAATSE IV. Na3AlFs

A for o et 7 § @Er 3o 9T

A-II. B-IV, C-1. D-III
A-I. B-IV, C-III. D-II
A-IIL B-IIIL, C-1. D-IV
A-I. B-IV, C-II. D-III

bt

et

Options :

1908893177. 1
1908893178. 2
1908893179. 3

1908893180. 4

Question Number : 71 Question Id : 190889812 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which one of the following hydrides does not possess reducing property?

H-O
H»>S
H)Se
H>Te

| ]

e G

Options :

1908893181. 1
1908893182. 2
1908893183. 3

1908893184. 4

Question Number : 71 Question Id : 190889812 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fFFafof@a & ¥ Fid 7 FEIEE HI9IS IUITH Al I@AT § 2

H,0
H)S

3. HySe
4. HiTe

| S

Options :

1908893181. 1
1908893182. 2
1908893183. 3

1908893184. 4

Question Number : 72 Question Id : 190889813 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Disproportionate reaction of HNO; gives mitrogenous compound ‘X’ and *Y’. Oxidation state of
Nin X' and ‘Y’ are

+4,41

+4, +2

bed bk

e

3
4. +5.+1

Options :
1908893185. 1
1908893186.

1908893187.

A W N

1908893188.

Question Number : 72 Question Id : 190889813 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HNO, #1 HEAIIT HHTHIT § A & A X H v oed g &1 N
HTFERIOT HIEAT X HT Y H FHU: E

+4,41
+4,42

o B o
+5, +1

e Ll D

Options :

1908893185. 1
1908893186. 2
1908893187. 3

1908893188. 4

Question Number : 73 Question Id : 190889814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Gemstones, ruby and sapphire contain ‘A’ and ‘B’ respectively as impurities. ‘A’ and ‘B’ are

A=Co:B=0Cr
A=Cr:B=Co
A=Co:B=Co
A=CrnB=Cr

e o e

Options:

19088931809. 1
1908893190. 2
1908893191. 3

1908893192. 4

Question Number : 73 Question Id : 190889814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ted G 1. 3R Aed 7 A #T B FA Fyfed ger gl AT HR BE

A=Co:B=Cr
A=Cr:B=Co
A=Co:B==Co
A=CrB=Cr

[ e

i

Options :

1908893189. 1
1908893190. 2
1908893191.3
1908893192. 4

Question Number : 74 Question Id : 190889815 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Arrange 1¥ jonization enthalpy of group 13 elements in the increasing order.
(TL In. Ga. Al)

Tl<In<Ga<Al
In<Ga<Al<TIl
In<Al<Ga<Tl
Tl<In<Al<Ga

b

B W

Options :

1908893193. 1
1908893194. 2
1908893195. 3
1908893196. 4

Question Number : 74 Question Id : 190889815 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 13 % Tcd! F TIH ATA9 Ted & 980 F7 & FIEUd FT| (TL In, Ga, Al)

TI<In<Ga<Al
In<Ga<Al<TI
In<Al<Ga<Tl
TI<In<Al<Ga

de el b

Options :

1908893193. 1
1908893194. 2
1908893195. 3
1908893196. 4

Question Number : 75 Question Id : 190889816 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Reaction of quick lime slaked with soda gives compound 'X'. X' 15

NaQOH + CaO
NaOH + Ca(OH),
Na,0O + Ca0
NayO + Ca(OH)»

P et

oW

Options :

1908893197. 1
1908893198. 2
1908893199. 3

1908893200. 4

Question Number : 75 Question Id : 190889816 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T g0 I 1 @rEr F ary AfAGRr ¥ A X9 g € X'

NaOH + CaO
NaOH + Ca(OH)»
NaxQ + Ca0
NayO + Ca(OH)>

M I

Options :

1908893197. 1
1908893198. 2
1908893199. 3

1908893200. 4

Question Number : 76 Question Id : 190889817 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The element with atomic number 55 belongs to

Group 1
Group 3
Group 15
Group 17

da Lo b

Options :

1908893201. 1
1908893202. 2
1908893203. 3

1908893204. 4

Question Number : 76 Question Id : 190889817 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SIHAU] FHF 55 dcd HaOd §

1. T 1
2. F 3
. F 15
4. A 17

L]

Options :

1908893201. 1
1908893202. 2
1908893203. 3

1908893204. 4

Question Number : 77 Question Id : 190889818 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled
as Reason R

Assertion A: H' does not exist freely.
Reason R: Loss of the electron from hydrogen atom leads to nucleus, H of ~ 1.5 x 107 pm size.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

e

s

Options :

1908893205. 1
1908893206. 2
1908893207. 3

1908893208. 4

Question Number : 77 Question Id : 190889818 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & FU U A0 § 0 AT (A) 3R g F FR0T(R) FT WA B
FRFYF (A): H &7 Hfcca Taa7 &9 & 780 g

FNT (R) : FTSZIoll WA & Foldciel BISel WX, Fel AT &1 PR ~ 1.5 % 10 pm
Bl &

S FA ¥ e # P e 3 ¥ 3R 3

[e—

A) R (R) 2T &6 € 3R (R). (A) F TE T g
)

(
(&) 3R (R) St WET & e (R). (A) T FEY ATEAT AL
(
(

[ ]

L]

A) T & Red (R) Tl W ¢
A) T T & T (R) T 8
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1908893205. 1
1908893206. 2
1908893207. 3

1908893208. 4

Question Number : 78 Question Id : 190889819 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given reaction,

A B &
2Cu,0(s) + CusS (s) =  6Cu(s) + SOy (g)

The oxidation number of Cu are A, B and C. A. B and C are respectively

+1,+2,0
+1,+1,0
+2,+1,0
+1,+2.+1

b

o

Options :

1908893209.

—

1908893210. 2
1908893211. 3
4

1908893212.

Question Number : 78 Question Id : 190889819 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&r arg AfAfRRar A,

A B C
2Cu,0(s) + CusS (s) = 6Cu(s) + SO, (g)

FIT H HTFHFIOT FEAT A. B HT CEl A. B3R c.FAM: & ;

i, 2.0
+1,+1.0
2,10
+1, +2,+]

LV S ]

g

Options :

19088932009. 1
1908893210. 2
1908893211. 3
1908893212. 4

Question Number : 79 Question Id : 190889820 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following molecules/ species have same bond order?

Choose the correct answer from the options given below:

1. A andC only
2. AandB only
3. A.B and C only
4, Cand D only
Options :
1908893213. 1 Qcollegeduniag

1908893214. 2 <



1908893215. 3

1908893216. 4

Question Number : 79 Question Id : 190889820 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faafoiaT T ov supEia=as & et 3me-yg Fife g9 ¢ 2
A .G

B. N,

A fow aT et & ¥ w9 3o 9

1. gl AHIT C
2. FFTAHT B
Fad A.BHT C
4. &g CHR D

=

Laa

Options :

1908893213. 1
1908893214. 2
1908893215. 3

1908893216. 4

Question Number : 80 Question Id : 190889821 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Grven below are two statements. one is labelled as Assertion A and the other i< labelled as
Reason R

Assertion A: Among halogens, chlorine has highest negative electron gain enthalpy value.
Reason R: The 1onic radius of C1 15 184 pm.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 15 NOT the correct explanation of A
A is correet but R 1s not correct

A 15 not correct but R 1s correct

b

oM

Options :

1908893217. 1
1908893218. 2
1908893219. 3
1908893220. 4

Question Number : 80 Question Id : 190889821 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 2 wud T v v F HEFUF (A) HR T FT FROT(R) FFT M £

HIAFUF (A): FAIAT H FaANA H o ey =44l Ty AQT FUMHT £
FROT(R) : CT Fr 3mafas =2 184 pm 24T 2

mﬂw FIA F AAF H A=A GFedt # § T Ieel I+

1. (A) 3R (R T & AT (R). (A) F FE TR §
2. (A) 3R (R) IS TE § W (R). (A) Fr T T A F
3. (A)TE E ] (R) W A 2
4. (A) @ T § W= (R) TS £
Options :
1908893217. 1 chllegedunias

1908893218. 2 g



1908893219. 3

1908893220. 4

Question Number : 81 Question Id : 190889822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true for cathode ray discharge tube experuments?

1. The electric discharge through the gases could be observed only at very high pressure and

high voltages.

The characteristics of cathode rays depend upon the material of electrode.

3. The properties of cathode rays do not depend upon the nature of gas present in the
cathode ray tube.

4. On applying high voltage across the electrodes. current starts flowing from positive
electrode to negative electrode.

[ ]

Options :

1908893221. 1
1908893222. 2
1908893223. 3

1908893224. 4

Question Number : 81 Question Id : 190889822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

efof@s & ¥ 37 @1 Fu FurE o Gaew st et F Pe @ d o

[t £

L 3 F AR § faegd Feed F99 99 379 GA9 N A aed W W
T T £

2. Furs RO & FeT0r goreE F gt W e F

3. %yt RN % qun, HurE TR Ao # IR 49§ 9§ W AR
el F

4, TOTIE ¥ 32T Tocd A W, UATHT o9eE § HUTCHAS Soideis 1 AN

YT Y3 g ST g

°
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1908893221. 1
1908893222. 2
1908893223. 3

1908893224. 4

Question Number : 82 Question Id : 190889823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The molarity of sucrose in the solution prepared by dissolving 1ts 114 g in water to form 300 mL
of solution 13

1. 1.11x10° mol cm’gﬁ
2. 1.11% 107 mol dm’
3: 141 » 1{]: mol dm’”
4. 1.11 x 10> mol em

Options :

1908893225. 1
1908893226. 2
1908893227.3

1908893228. 4

Question Number : 82 Question Id : 190889823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GHE F 114 g F Tl & AT 300 mL Fergar 7o €. foaa & g 1 Aona
¢l

1.11 % 10” mol em™
1.11x 1«[]*:2 mol dm’
1.11 * 10° mol dm™
1.11 * 10> mol em

b =

R

Options :
1908893225. 1
1908893226. 2 Q collegeduma
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1908893227. 3
1908893228. 4

Question Number : 83 Question Id : 190889824 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

A, Hydndes of group 13 act as Lewis acids,

B. On addition of gypsum to cement. the setting time decreases.
C. Diamond 15 thermodynamically most stable allotrope of carbon.
D. Beryllium exhibits coordination number of more than four.

E. Beryllium 1s not readily attached by acids because the presence of an oxide film of the surface
of the metal.

Choose the correct answer from the options given below:

A and C only
B and C only
3. Aand E only
4. Aand B only

[

Options :

19088932209. 1
1908893230. 2
1908893231.3

1908893232. 4

Question Number : 83 Question Id : 190889824 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T s s s s wr ¢

AT 13F FT5ERE Y ¥ I A% FE A {

B. U= ¥ Tocun e, did=e & 84 37 A7 92T 2|
C. 3N JRfEaTEs T § Fo4 F TI9 TUE J969 &
D. 3o I} & ST THEAV TE; AT £

E. INToms 3=ar ¥ e ¥ dfatEw 38 F1a £ F9E SHE 6 WOATEEEs
F er a7 T £ .

AR R AT et & ¥ W 3R I

1. Had AHT C
2 FABAR C
3. %99 AR E
4, FITAFTB

Options :

1908893229. 1
1908893230. 2
1908893231. 3

1908893232. 4

Question Number : 84 Question Id : 190889825 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are incorrect?

A. Frequency of radiation emitted by a body goes from lower frequency to higher frequency with
an increase in temperature.

B. Chromatography involves a mobile phase and a stationary phase.

C. Optically 1somerism 1s a very rare phenomenon in octahedral complexes involving bidentate
ligands.

D. In NH3 and HyO molecules, both the central metal atoms are sp’ hybridise and bond angle
H-N-H 15 lesser than that of H-O-H.

Choose the correct answer from the options given below:

A and B only
Aand D only
C and D only
B and C only

b —

pe ok

Options :

1908893233. 1
1908893234. 2
1908893235. 3

1908893236. 4

Question Number : 84 Question Id : 190889825 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FeoTEa 7 § Fi7 o1 U9 ¥57 27

A el s 2w sewfee R S sfer e & e $ sy s smgfea @
34 Hqfed aF T £

B. F0rerEs & Tfeefier A R e g 2
C. {V FATAL, HThorhd FFel & Efageqy fonTs & |1y agd & gehy aee |

D. NH; 3V H,0 303l # gl Hfegg qwaAmgst &1 §H0rsp’ € 3N H-N- H 3=y
T H-0-H HE=T F0T T FH F|

A T 70 et # ¥ W I T

l. %9 AXN B
2. Fa9 AHTD
3. &3 CHR D
4, FFTBHR C

Options:

1908893233. 1
1908893234. 2
1908893235. 3
1908893236. 4

Question Number : 85 Question Id : 190889826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Expansion of a gas against external pressure (Py= 0) 15 called free expansion.

Statement II: No work 15 done during the expansion of an 1deal gas when the process 1s
reversible only.

In light of the above statements, choose the correct answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 1s false but Statement II 1s true

| R

Options:

1908893237. 1
1908893238. 2
1908893239. 3
1908893240. 4

Question Number : 85 Question Id : 190889826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FuF T AT F

FYF - 1. TET T (Pex0) F I T F TOR AFT TR Fgannel 2|

FI - [[: 79 THA $9d 3HAVIT g & af 3ed 39 F 79 § FE F79 T2
gl

T FUA F AT 7 et TEe # ¥ 7 3o

1. FI7 13X 1341 F@r &)
2. FuF 1HR D= e £l
3. FUF 1HE 8, fheq F99 179 £
4. FUF 177000 8. fveg FYT TF 3

Options :
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1908893238. 2
1908893239. 3

1908893240. 4

Question Number : 86 Question Id : 190889827 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Spontancous process 1s an irreversible process and may be reversed by some
external agency.

Statement IT: Decrease in enthalpy decides spontaneity of all process.

In light of the above statements, choose the correct answer from the options given below
Both Statement I and Statement I are true

Both Statement I and Statement IT are false

Statement I 15 true but Statement 11 15 false
Statement I 15 false but Statement IT 1s true

| T

i

Options :

1908893241. 1
1908893242. 2
1908893243. 3
1908893244. 4

Question Number : 86 Question Id : 190889827 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT FRRTATE

FUF - 1: 799 T9Tad ThH UF HHAVIT TRA 2 § 3R 37 et e oA
% TN & Sohied (6T 1 Tl ¢

FUT - 1. T30 & fEe ool o&at & w9 wafaar # fuifs w5 2
3T FUA F HAw A (aeforad awedr # ¥ T 3o I

1. U7 1AT N3= 7 &
2. FUF 13T N2 79T £
3. FUA 18 € feg w9 17ed £
4 FYF 17978, g FUT N TE 2

Options:

1908893241. 1
1908893242. 2
1908893243. 3

1908893244. 4

Question Number : 87 Question Id : 190889828 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List II

:3[nte1‘ial Conductance {Sm'l).
A Teflon L21x10° |
B. Pure Water [II. 1.5 x 107
C.Sodium  |IIL. 1.0 x 107%

D. Silicon  [IV.3.5x 107

Choose the correct answer from the options given below:

1. A-IV, B-II, C-I. D-III
2. A-IV, B-III. C-II. D-I

A-IIL B-IV. C-II. D-1 Qcollegeduni -
;ﬂL-III B'I‘\r . {_ '].. D-II India’s largest Student Review Platform

B

~



Options :

1908893245. 1
1908893246. 2
1908893247.3

1908893248. 4

Question Number : 87 Question Id : 190889828 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=T -IFEET - § gRfeT ffST

e -1 g -11

et TeThal (Sm™)
A. TFATA .21x10°

B. S I IL 1.5 x 107

C. oz I 1.0x107®
D. [t IV.3.5x 107

A fT ar wet # ¥ W@ 3cR) g

A-IV. B-IL. C-1. D-III
A-IV, B-III, C-1I. D-I
A-II, B-IV. C-1I, D-I
A-III B-IV. C-1. D-II

| S ]

B ow

Options :

1908893245. 1
1908893246. 2
1908893247.3

1908893248. 4

Question Number : 88 Question Id : 190889829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Qcollegedumag
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For a general reaction. A+ 2B — C+D
Which of the following statements is correct?

1. Rate of disappearance of A = Rate of disappearance of B
2. Rate of disappearance of A = ': Rate of appearance of C

3. Rate of disappearance of A = ¥ Rate of disappearance of B
4. Rate of disappearance of A = ¥ Rate of appearance of D
Options :

1908893249. 1
1908893250. 2
1908893251. 3

1908893252. 4

Question Number : 88 Question Id : 190889829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT ¥fFmA+ B c+DF T AR s e s wFm T £ 2

. A¥ B 3 #eT = BH 819 34 #1 &

AR IR AT = 12CATL T F T
3. AR BE A 1T = 12BAFE g A X
4, AW FH 8 T = 12D IE g FT W

Options :

[ ]

1908893249. 1
1908893250. 2
1908893251. 3

1908893252. 4

Question Number : 89 Question Id : 190889830 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Thermal decomposition of Cly07 at 400 K 1n the gaseous phase to Clyand O 15 a first order
reaction with rate constant 6.932 x 10~ s, How much minutes are required for 90%
decomposition of C1,07 at 400 K?

5.54
16.61
3. 3332
4. 3322

i

Options :

1908893253. 1
1908893254. 2
1908893255. 3

1908893256. 4

Question Number : 89 Question Id : 190889830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

400K 31T 9T FHT 79T H CLO; FTCL AT 0, & I 3982 6.932x 107 <137
T F 31y vs wuR e Fr 38§ 400K F19 L0, F 90% ¥uafed g
F for frae e s 0

5.54

16.61
33.32
332.2

d bk

o b

Options :

1908893253. 1
1908893254. 2
1908893255. 3
1908893256. 4

Question Number : 90 Question Id : 190889831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 .
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Match List I with List IT

ListT  |ListTI
Enzyme Source

A Zymase i Soyabean |
B. Urease |IL Yeast

C. Pepsin 11 Malt

D. Diastase IV. Stomach

Choose the correct answer from the options given below:

1. A-IL B-I, C-III. D-IV

2. A-II B-L, C-IV. D-III

3. A-L B-IIL C-IV. D-III

4. A-lL B-IIL C-III. D-IV
Options :

1908893257. 1
1908893258. 2
1908893259. 3
1908893260. 4

Question Number : 90 Question Id : 190889831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A. FTASA 1 g
B. IR . Aree

. ofeg 1. 7T
D. Ejppc) :IV. HTATAT

A feT ar BFedl # ® WEr Sea) AT ¢

1. A-II. B-I1. C-III. D-IV

2. A-IL B-L. C-IV. D-III

3. A-L B-II. C-IV. D-III

4. A-I B-II. C-IIL. D-IV
Options :

1908893257. 1
1908893258. 2
1908893259. 3
1908893260. 4

Question Number : 91 Question Id : 190889832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: On dissolution of large number of atoms or smaller molecules of a substance
aggregate together to form species having size in the colloidal range (diameter > 1nm).

Statement IT: The word lyophobic means liquid hating.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 1s false but Statement II is true QCOI |egedunia§
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Options :

1908893261. 1
1908893262. 2
1908893263. 3
1908893264. 4

Question Number : 91 Question Id : 190889832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 2wy fer Aw

Foe - 1. el #  Ghe verd % agF & AW A 7Y ] HOE g O
ST v T T9 § o 3R S 9 (29 s ) BT £

FUF - 11 FaFR oeg &1 ¥ § g9 § gUI =S T
3R FUA F A # il SEed # ¥ W 3

1. FUF 13T LA T2 2
2. F49 13T 124 w197 £
3. FY9 19 ¢ g F9a naed £
4, FYF 170 ¢, o FIT LFE £

Options :

1908893261. 1
1908893262. 2
1908893263. 3
1908893264. 4

Question Number : 92 Question Id : 190889833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If a container have equal masses of CHy and Hj. then the mole fraction of CHy 1s

1/9
4/9
5/9
8/9

Lad b

o

Options:

1908893265. 1
1908893266. 2
1908893267. 3
1908893268. 4

Question Number : 92 Question Id : 190889833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe Fdr F=¢at & CH: 3T Hy FT TAT Z<TAT TQT 21 3 CHy FT Jiel 39T
g

1/9
4/9
5/9
8/9

| =

Fa

Options :

1908893265. 1
1908893266. 2
1908893267. 3

1908893268. 4

Question Number : 93 Question Id : 190889834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT

Law _EFm*mula

A. Charle’s Law I. P/'T = Constant
B. Gay Lussac’s Law II. PV = Constant
. Boyle’s Law _.III. V/n = Constant

D. Aﬁtgafh'ﬂ'f: Law |[IV.V/T= Constant\

Choose the correct answer from the options given below:

1. A-II B-I. C-IV. D-III
2. A B-1V, C-III. D-1
3. A-IV, B-L C-II. D-III
4. A-IV, B-1II, C-II. D-I

Options :

1908893269. 1
1908893270. 2
1908893271. 3

1908893272. 4

Question Number : 93 Question Id : 190889834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IFTEET -1 § GATeT HIT

T - T -1

ez T

A TeT FT FEH I P/T =2+
B.3 - TF F s 11. pv= Tt
. afge FT L Vi = e
D. TSRS FT FIH V. V/T = i

A T AT et # ¥ HE 3o AT ¢

1. A-IL B-I. C-IV. D-III
2. A-L B-1IV. C-III. D-1
A-IV. B-1. C-II. D-III
A-IV, B-III, C-1I. D-I

ol

Options :

1908893269. 1
1908893270. 2
1908893271. 3

1908893272. 4

Question Number : 94 Question Id : 190889835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct order of the packing efficiency for the simple cubic lattice. bee, cep and hep.

hep > cep > bee > Simple cubie lattice
. hep < cep < bee < Sumple cubic lattice
hep = cep < bee < Simple cubic lattice
hep = cep > bee > Simple cubie lattice

[

g

Options :
1908893273. 1

1908893274. 2

1908893275. 3 Q collegedunia:s
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1908893276. 4

Question Number : 94 Question Id : 190889835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WH?ﬁ?m.bcc.ccpmhcpaiwma?Fﬁﬁﬁﬂﬁvl

1. hep > cep > bee > BT HAIT ATeleh

2. hep < cep < bee < TS AT HAToleh

3. hep=cep < bee < IS AT HAToleh
4. hep=cep > bee > BIA AT ATl

Options:

1908893273. 1
1908893274. 2
1908893275. 3
1908893276. 4

Question Number : 95 Question Id : 190889836 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
Types of solids Examplesﬂ
A. Molecular Solids |I. Mg(j |
B. Ionic Solids IL. SiC

C. Metallic Solids |III. CCl4
D. Covalent Solids |IV. Ag

Choose the correct answer from the options given below:

1. A-IIIL B-I. C-IV. D-II
2. A-II B-II C-IV. D-I

A-IV. B-IL C-IIL D-I Qcollegeduniag
J.ﬂ.i.-]: " B -]_-_[ £ C -]II. D -IR':F India’s largest Student Review Platform
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Options :

1908893277. 1
1908893278. 2
1908893279. 3
1908893280. 4

Question Number : 95 Question Id : 190889836 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& -IFEET - § gAfeT FifeT

T -1 Tt -11
BT & TFR 3ETEIOT
A. HT0a+ 3T L. MgO
B. ¥Tafa+ 3@ 1. SiC
C. ticas 3rF 1L CCly
D. T8+ 3" .I‘i-’. Ag

Arr for 7v Rent # ¥ @ 3o g

1. A-IIL B-I. C-IV. D-II
2. A-II B-II. C-IV., D-I
A-IV. B-IL. C-III. D-I
A-L B-II. C-IIL. D-IV

& ow

Options :

1908893277. 1
1908893278. 2
1908893279. 3
1908893280. 4

Question Number : 96 Question Id : 190889837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Qcollegeduniaé
Correct Marks : 4 Wrong Marks : 1 2 India’s largest Student Review Platform



Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A : The preservation of meat by salting and fruits by adding sugar 1s done to protect
them from bacterial action.

Reason R : Due to the reverse osmosis.

In light of the above statements, choose the correct answer from the options given below
Both A and R are true and R 1s the correct explanation of A

Both A and R are true but R 1s NOT the correct explanation of A

A 15 true but R 1s false
A 1s false but R 1s true

e o b e

Options :

1908893281. 1
1908893282. 2
1908893283. 3
1908893284. 4

Question Number : 96 Question Id : 190889837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fud R v € o 1 AfEET (A) 3 gE FOFNOT (R) FT A

HUFUF (A): BTH F 90 AT Far F AT SRt ST B FJEr §
Ieg 49T & THE Y 9977 o G

FNOT(R) : TaelH I F FH07

FFd FUA F HAE A fAwea Eedt & § ®E 3} T

e

L (A)IR R) I T E AR (R). (A)FT T e g

- (A) AR (R) A T T (R). (A) T TET EE A
. (A) T E W (R) WE A B

. (A)WEr TE § T (R)FET L

Options: Qcollegeduniag
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1908893281. 1
1908893282. 2
1908893283. 3

1908893284. 4

Question Number : 97 Question Id : 190889838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

: %3 ;
The number of moles of carbon and oxygen required to produce 6.023 x 107 molecules of CO;.

0.01 mol and 0.01 mol
0.5 mol and 0.1 mol

3. 10.0 mol and 5.0 mol
4. 1.0 mol and 1.0 mol

| I =

Options:

1908893285. 1
1908893286. 2
1908893287.3
1908893288. 4

Question Number : 97 Question Id : 190889838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

COrF 6.023 x 10% U & 3o & F T Fraa AN FFdiaa & A i qE&w
¢l

1. 0.01mol HT 0.01 mol
2. 0.5mol 3T 0.1 mol
3. 10.0mol HR 5.0 mol
4. 1.0mol HT 1.0 mol

Options :

1908893285. 1 Q collegedunia:s
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1908893286. 2
1908893287. 3

1908893288. 4

Question Number : 98 Question Id : 190889839 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Considering the pK, of acetic acid and pKy, of ammonium hydroxide are 4.5 and 4.4,
respectively. The pH of ammonium acetate 1s:

b2 —

il ok

7.005
8.9
4.45
75

Options :

1908893289. 1
1908893290. 2
1908893291. 3

1908893292. 4

Question Number : 98 Question Id : 190889839 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e & ofafes sew 1 pK, R 3ARTs TEseaEs oK, FAT 45 K448
¥AATE e FTpH |

oad

3
4.

7.005
8.9

. 445

Fos

Options :

1908893289. 1
1908893290. 2

1908893291. 3

°
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1908893292. 4

Question Number : 99 Question Id : 190889840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Dissociation is the process of separation of 10ns in water already existing as such in
the solid state of the solute like NaCl.

Statement IT: Tonization corresponds to a process m which a neutral molecule splits nto charged
10ns 1n the solution.

In light of the above statements, choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 15 false but Statement II is true

1
Z

Options :

1908893293. 1
1908893294. 2
1908893295. 3

1908893296. 4

Question Number : 99 Question Id : 190889840 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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A g Fua Gv v £

FH -1 T F A A T AW FTEN AN AT G e F A A
JUFHRIT T ST F AT FEa €1 S Nacl

FUA - [ HACHT 37 TR # Fgd ¢ 908 0% gl H0) e & s
A T A

TYF FA F AF 7 fAeafared owedt & ¥ T 3o 99

1. FUF 137 I3=1 §r &)
FUF 1 AT 13 797 &
3. FYF 158 ¢, Fheg F99 0o B

4. FYF 190 . Feg FuF NHE £

|

Options :

1908893293. 1
1908893294. 2
1908893295. 3

1908893296. 4

Question Number : 100 Question Id : 190889841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Cu is more reactive than hvdrogen.
Statement II: E°, 2y is negative.
Inlight of the above statements, choose the correct answer from the options given below
Both Statement I and Statement II are true
Both Statement I and Statement II are false

Statement I is true but Statement I1 is false
Statement [ is false but Statement I1 is true

b e < B

Options :

1908893297. 1 .
% collegedunias
1 908893298. 2 ¢ India’s largest Student Review Platform



1908893299. 3

1908893300. 4

Question Number : 100 Question Id : 190889841 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R 2 &ue fRw are § o

FUA - - FHII gEsad & FE Ghanie 3

FAT - 11 - E°¢y 2y TOTcH BIaT

3IFd FUAT & el A FArATaf@d Aeedl 7 § &6 3ca T4 ¢

1

Ft

e 131 a8t agr £
FaeT 131K IIEET 71ea £

3. ®UA 1961 8. fheg et I atad 2
4.

FUA 13700 §. fheg HU=T LI ART B

Options :

1908893297. 1

1908893298. 2

1908893299. 3

1908893300. 4

Part C Agriculture

Section Id : 19088929
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

°
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Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Sub-Section Number : 1
Sub-Section Id : 19088955
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 190889842 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following device records the time interval when solar radiation reaches to the
earth’s surface with sufficient intensity?

Pyranometer
Radiant Flux
Heliograph
Pyregeometer

[

ok

Options :

1908893301. 1
1908893302. 2
1908893303. 3

1908893304. 4

Question Number : 101 Question Id : 190889842 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foreet & o 59001 9 e & qeft 1 g W gAed quedr A e F
WHE HAA FT AT £

1. ISR
2. 30T woem
3. Rfeaems

. IEITFAERT

o

°
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1908893301. 1
1908893302. 2
1908893303. 3

1908893304. 4

Question Number : 102 Question Id : 190889843 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Frost day is a day when minimum temperature 1s less than 0 °C.

Statement II: Frost point 1s a point where maximum temperature of frost formation occurs by
sublimation of atmospheric moisture,

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II 15 incorrect
4. Statement I 1s incorrect but Statement II 1s correct

o

Options :

1908893305. 1
1908893306. 2
1908893307. 3

1908893308. 4

Question Number : 102 Question Id : 190889843 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT sy Grav §

FUF - 1. 9o F® 72 o7 2 8. 99 7R A9AR 0° HEE ¥ FH A £

W-H:Wﬁ@&?ﬁg?ﬁmﬂfﬁﬂiﬂéwmd F 2N 9Tl 34
THRY Af=aR F9AE 2 g

TYF FUA F e & frfated e & & 7 5w

1. F49 13T I Ter
FuT 13T D& T £
3. FY9 [T ¢, fheq FYa1 17T €

4. FUF 179 §. g FU LT E

[ ]

Options :

1908893305. 1
1908893306. 2
1908893307. 3

1908893308. 4

Question Number : 103 Question Id : 190889844 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following allopolyploid arises by combining genomes of two diploid species?

Autotriploid
Autotetraploid
Amphidiploid
Allosyndesis

b2 —

- e

Options :

1908893309. 1

1908893310. 2

1908893311. 3

1908893312. 4 Qcollegeduniag
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Question Number : 103 Question Id : 190889844 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafafed & ¥ #19 H FgI0T a1 20T Jefar % S & FAEA F a
g7

4, TATE=Sr8E

Options :

19088933009. 1
1908893310. 2
1908893311. 3

1908893312. 4

Question Number : 104 Question Id : 190889845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Pureline varieties are homozygous and homogeneous populations.

Reason R: They have narrow genetic base and poor adaptability than heterogeneous
populations,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R is NOT the correct explanation of A
A is correct but R 1s not correct

A 1s not correct but R 1s correct .
% collegedunias
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Options :

1908893313. 1
1908893314. 2
1908893315. 3
1908893316. 4

Question Number : 104 Question Id : 190889845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fud U T oF F ATEFAT (A) #R GEY FOFNOT(R) FgT T 2
FAFUT (A): qE FIFH FHH THLFS U3 FAEE EAr £

FNOT (R) : FAGEASr T 1 T 7 ST A AF HUR T 3 6.7
Helold &A1 FH El £

IYIFT FUAT & HAF H AeeAind fahesl # § TE 3o I

[e—

| ]

(A) 3R (R) I T § AR (R). (A) T TE e g
(A) #R (R) 3 TEr & T (R). (A) T T <AET A £
(A) Wl € T (R) WET AL 2

- (A)HE TE E I (R)FE £

oo

Options :

1908893313. 1
1908893314. 2
1908893315. 3

1908893316. 4

Question Number : 105 Question Id : 190889846 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 .
% collegedunias
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Given below are two statements

Statement I: Intergeneric hybridization refers to crossing between two different genera of two
different fanulies.

Statement II: Cross incompatibility, hybrid inviability, hybrid sterlity and hybrid breakdown
are the main barriers to distant hybridization.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 1s correct

[ e

Options :

1908893317. 1
1908893318. 2
1908893319. 3
1908893320. 4

Question Number : 105 Question Id : 190889846 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT FUF RT AT E

FUF - 1 3557090 F07 77 a9 & 3fdew ofEw F & o # g S
gl

FYF - 11 T 41, THUT 7920, FH =201 T FH 07 G009 &y

FRIOT % HET ¥ E £

I FIA F HAF B AEAad wed # ¥ WEl 3ol I

. T 3R nge wE

FUF 13X 1gaT 7o £

. FUF 1T . g FF 194 g
. FUF 1794 £ ] Fuq DH

= Ll [ ] b

Options :

1908893317. 1
1908893318. 2
1908893319. 3
1908893320. 4

Question Number : 106 Question Id : 190889847 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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Match List I with List IT

List I List IT

Gene Interaction Ratio

A. Typical dihybrid ratio [I. 15 : 1

B. Duplicate gene action T.12:3:1
C. Masking gene action |II1.9:3:3:1

D. Polymeric gene action|IV.9:6: 1

Choose the correct answer from the options given below:

1. A-ILB-INLLC-IV.D-1I
2. A-IIILB-1.C-II.D-1IV

3. A-LB-ILC-III.D-1IV
4, A-IV.B-III.C-II.D-I
Options :

1908893321. 1
1908893322. 2
1908893323. 3
1908893324. 4

Question Number : 106 Question Id : 190889847 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IHHA -1 ¥ gRfeE FifaT

T T I
(ST Hegl=gishan) (3egHTd)
A ZfIEHOT 9T I 1.15:1
B. §eIgfed et foham 112 $351
C. ATTEFeT S R ML 9:5:3: 1
D. TR A fmar IV.9:6:1
A foT 7T Aot # ¥ HE 3eaR IfAv

. A-LB-IL,C-IV,D-II

2. A=l B=1.C -1, D=1V

3. A-LB-ILC-T,D-1IV

4. A-1IV,B-II,C-I,D-1I
Options :

1908893321. 1
1908893322. 2
1908893323. 3
1908893324. 4

Question Number : 107 Question Id : 190889848 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedunlaa
India’s largest Student Review Platform

~



Read the following statements and choose the correct statements:

A. Gametic chromosome of the concerned species present in haploid condition.
B. One chromosome pair missing in nullisomic heteroploid.

C. Three copies of the same genome i trisomic heteroploid.

D. Four copies of the same genome 1n tetrasomic heteroploid.

Choose the correct answer from the options given below:

1. AandC only

2. Band D only

3. Cand D only

4. A and B only
Options :

1908893325. 1
1908893326. 2
1908893327. 3

1908893328. 4

Question Number : 107 Question Id : 190889848 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FFaT@d 9199 97eT T H&l FUAT # ST :

A. T off 9T & AT U 3 AT F FTISs HEA A WA 8
B. ATCrAIAF Feeass # qUMHT FT TF FrST FH & ¢

C. TSTITAF FeUeanss F A Fa| & JF qfaar gar g1

D. ETTHITHS gelcaEs # TH S=E H 918 953 2idr £

A T 7T et & ¥ @6 5o I

. a9 AT C
. #FA BTI D
. HFFACTT D
4 FITATIB

[ ]

Ll

Options :

1908893325. 1
1908893326. 2
1908893327.3

1908893328. 4

Question Number : 108 Question Id : 190889849 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedunlaa
India’s largest Student Review Platform

~



Read the following statements and choose the correct statements:
A. Cellobiose 1s a polysaccharide.

B. Maltose 1s a monosaccharide.

C. Sucrose 1s a oligosaccharide.

D. Starch is a polysaccharide.

Choose the correct answer from the options given below:

1. AandC only

2. BandD only

3. Aand B only

4. Cand D only
Options :

1908893329. 1
1908893330. 2
1908893331. 3

1908893332. 4

Question Number : 108 Question Id : 190889849 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TEeataT@a I 9fer AT J2r FUAT F S

A AR TH TerEHss gl

B. AT UF ARHHISS &l

C. g UF HToremaaHiss g

D. T TF Sreraass gl

A T ar BFent # ¥ §Er 3o 9+

1. 91 ATT C
. FIA BTI D
FJef ATT B
. A CTI D

= LTV S

Options :

1908893329. 1
1908893330. 2
1908893331. 3

1908893332. 4

Question Number : 109 Question Id : 190889850 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Enzymes are made up of proteins with complex three dimensional structures.
Statement IT: Enzymes are resistant to changes i pH and temperature.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 15 correct but Statement II 1s mcorrect
Statement I 1s incorrect but Statement IT 1s correct

e el D

Options :

1908893333. 1
1908893334. 2
1908893335. 3

1908893336. 4

Question Number : 109 Question Id : 190889850 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A T FUT U AT §

FUA - 1: TR oo Ffeed FEagsd e ¥ 3 3 ¢
FUF - [ T=aEH 9109, U9 J9AF F 9 giawdt 2 &
T FAI F HAF A AeAiaiad ewedl # ¥ FaE 39YF Sea] I

. ®F 1T D= T 2
2. ®ud 1R nge 7o 8
3. FY 1WEE. e F9 194 g
4. FUF 17000 £. g FUF DT

Options :
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1908893334. 2
1908893335. 3

1908893336. 4

Question Number : 110 Question Id : 190889851 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

Proteins Exa mples

A. Primary derived proteins  |I. Nucleoproteins
B. Simple proteins 1. Peptides

C. Conjugated proteins ITIL. Scleroproteins

D. Secondary derived proteins [IV. Metaproteins

Choose the correct answer from the options given below:

1. A-ILB-LC-III.D-1IV

2. A-IV.B-III.C-1.D-II

3. A-LLB-IILC-III.D-1IV

4, A-IV.B-III.C-II.D-1I
Options :

1908893337. 1
1908893338. 2
1908893339. 3
1908893340. 4

Question Number : 110 Question Id : 190889851 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedumag
India’s largest Student Review Platform

~



T -IFIEET - ¥ gATT FIST

=T -1

II. 92TEE

1. TFeRI9E

IV. AST9EH

(SETe)

A JTIfEF eI I

B. O 98

C. Fafdlecs e

D. gfafaas egeae=a 9

A fer AT ReRedt # ¥ §E1 3c W AT
L AT BTN T
2 AN BILE<LDAL
3. A-LB-I C-IL.D-IV
4, A-IV.B-NILC-IL.D-I

Options :

1908893337. 1
1908893338. 2
1908893339. 3
1908893340. 4

Question Number : 111 Question Id : 190889852 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 1s not correct about Actinomycetes?

1. They are facultative anaerobes that are found in the mouth and throat of humans and

animals.

[ ]

the head. neck or lungs.

4. Association between actinomycetes and plant roots 1s termed as actinorhizae.

Options :

1908893341. 1

They rarely form filaments that can fragment.
3. Actinomyces israelii causes actinomycosis, a tissue destroying disease usually affecting

°
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1908893342. 2
1908893343. 3

1908893344. 4

Question Number : 111 Question Id : 190889852 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT F Al o A s T s T & °

L ¥ st 3ErEy 9 A9 £ Ae U 9 % A{Z 0F A F O A £

- ¥ fonfam @ arer At @1 Ao age w9 F £

. UFIAATEET SO THRIATAISHITEE AT T FIF £ T4 Joas 7%
29 £ T3 v 8 I weer A wfes £

4, TFAABREES 19 9 F T3 7 G5y TRIAHASHS FLod &

[

L%

Options:

1908893341. 1
1908893342. 2
1908893343. 3
1908893344. 4

Question Number : 112 Question Id : 190889853 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedumag
India’s largest Student Review Platform

~



Given below are two statements

Statement I: Algae differ from other photosynthetic eukaryotes. n lacking a well-organized
vascular conducting system.

Statement IT: In multicellular gametangia of algae, at least 50 % cells are fertile.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

R

Options :

1908893345. 1
1908893346. 2
1908893347. 3

1908893348. 4

Question Number : 112 Question Id : 190889853 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AU AR T avE

FUA - 1. 9979 HT T TIAET S SE ¥ e g € e o gofea
TIgAT TEN0T AT G A £

FUT - 11 T F TEHORAT AT F9 # 77 § FA 50 Tawd FRHT 350
g

FFT FUA F HEE B AFAET [Shedl # ¥ T 3ol I

. FUF 13X e T

. FUF 1HT 13+ T £

. BT 1TE ¢ e Fua 17T 2

FUA 17700 8. e Fuat T 2 Qcollegedunias
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Options :

1908893345. 1
1908893346. 2
1908893347.3

1908893348. 4

Question Number : 113 Question Id : 190889854 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

el ListII
Structure Function
A Glycocalyx I. Attachment of cells.

. . 11. Co-ordinated movement of materials and
B. Nucleoid

storage.
) IM1. Survival during adverse environmental
C. Exozymes i =
; conditions
D. Endospores IV, Genetic information package.

Choose the correct answer from the options given below:

A-ILB-OLC-IV.D-1I
A-ILB-IV.C-III.D-II
A-NLB-ILC-LD-IV
A-ILB-IV.C-II.D-1III

b —

e

Options :

1908893349. 1
1908893350. 2
1908893351. 3
1908893352. 4

Question Number : 113 Question Id : 190889854 Question Type : MCQ Option Shufflina : No Is
Question Mandatory : No % collegedunias

India’s largest Student Review Platform
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Correct Marks : 4 Wrong Marks : 1

T -1 -1 § gRfed fifaT

T -1 =T -1I

(HYT) (F13)

A TASHHFE L FRF T FE T

B.7gfForaEs L verat 1 Afdse uee e awor w9 §

C.UFRISSAE [ Iicishel IaEoiid gomst # ff aof & &
D. TEIEITH IV. HIS % I et

e faT 71T faFent # ¥ Wl 3e AT

A-IILB-NMLC-IV.D-1
A-ILB-IV.C-III.D-1I
A-TIILB-II.C-LD-IV
A-LB-IV.C-II.D-III

|

b s

Options :

1908893349. 1
1908893350. 2
1908893351. 3
1908893352. 4

Question Number : 114 Question Id : 190889855 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many well defined breeds of cattle are there in India?

L. 37
2. 41
3. 46
4. 50
Options :
1908893353. 1 :
Qcollegedunlaa

1908893354. 2
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1908893355. 3
1908893356. 4

Question Number : 114 Question Id : 190889855 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT # Tl Tt Fr qut TRl awe e € 0

I 37
2. 41
3. 46
4. 50
Options :

1908893353. 1
1908893354. 2
1908893355. 3

1908893356. 4

Question Number : 115 Question Id : 190889856 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Riverine buffaloes have 50 chromosomes.
Statement II: Swamp buffaloes have 49 chromosomes.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement 1T 15 correct

Options : g
% collegedunias
1 908893357. 1 India’s largest Student Review Platform

~
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1908893358. 2
1908893359. 3

1908893360. 4

Question Number : 115 Question Id : 190889856 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A I FUF BT AT §

FUS - 1: ST FA H 50 IO 2T

U - 11 Telgoll S/ H 49 IUMET 21T £

T FUA F e # Peatarle et F ¥ ¥ 3R o

1. F2F 1HR IgHAT FeT &
Fud 1 AT 11 T €
FUA 1T €. fFeg F¥F 199 £
FUF 17004 &. =g FU=7 I TET €1

[ ]

L]

e

Options :

1908893357. 1
1908893358. 2
1908893359. 3

1908893360. 4

Question Number : 116 Question Id : 190889857 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedumag
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Match List I with List IT

List I List II

Buffalo Breed Place

'A. Banni I. South India

B. Bhadawari T1. North Western India
C. Toda TIL. East India .I
D. Chilka IV. Central India

Choose the correct answer from the options given below:

1. A-ILB-IILC-IIILD-IV
2. A-IILB-IV.C-L.D-1III
3. A-ILB-IV,C-1II.D-1I

i

A-TMMB-I.C-II.D-1IV

Options :

1908893361. 1
1908893362. 2
1908893363. 3

1908893364. 4

Question Number : 116 Question Id : 190889857 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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T -IFTEET -1 § gRfe HifSw

T -1 T -1

@fw # 7w ()

A T L. ZTET0T 9T

B. sl 1 9TeeAcaT 9T
C. 2= L &t AR

D. F=rerr V. 7o 3R

A= T 7T Fwest & § w8 sew 9T

—

B-ILC-III.D-IV

B-IV.C-L.D-III

B-IV.C-IILD-I
B-ILC-II.LD-IV

- 11
- 11
- I11.

L.Ji_—t
.‘-B*.iﬁ*fﬁ*:ﬁ*

ba s

Options :

1908893361. 1
1908893362. 2
1908893363. 3

1908893364. 4

Question Number : 117 Question Id : 190889858 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedunlaa
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Grven below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Farmers involved in animal husbandry rarely experience extreme poverty.
Reason R: In the livestock production sector, there 15 no scheme like minimum support price.
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A is not correct but R 1s correct

| =

=i

Options :

1908893365. 1
1908893366. 2
1908893367. 3

1908893368. 4

Question Number : 117 Question Id : 190889858 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 & U feU a0 € OF AT (A) HT GHT T FROT(R) FT A
HIRUA (A) : TYAET § 8 g0 O ey - For ff TR FFHA R B
FROT (R) : T 309 87 # JAdH THIA e AH FIE el A8 £
SF FUR WA # Frth e # @ weifi 3R S

(A AR (R TE E 3R (R). (A) F TE e g
. (A) AR (R)ZET TET § Weg (R). (A) FT TEr cIEA T 2
. (A)WE § g (R) WET AL

(A) B8 78T € T (R) TE £ .
Qcollegedunlas
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1908893365. 1
1908893366. 2
1908893367. 3

1908893368. 4

Question Number : 118 Question Id : 190889859 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What 15 the primary function of colostrum?

To provide nutrition to calf

To give a laxative effect which 1s helpful in expulsion of muconium (first facces)
3. To fortify the calf’s disease resistance

4. To protect calf from hunger

[ S

Options :

19088933609. 1
1908893370. 2
1908893371. 3

1908893372. 4

Question Number : 118 Question Id : 190889859 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U F I3 FE AL

1. 985 F TG0 F&H HFAT

). FIHAIR (T4 A7) FT G ool # Fgar +4 F @0 T8= 7 FH
Al

3. 752 F U9 9fEUuE R F TR FE

4. TCS H @ ¥ T

Options :

1908893369. 1 Q collegedunias
1908893370. 2 & ndia’s largest Student Review Platform



1908893371. 3
1908893372. 4

Question Number : 119 Question Id : 190889860 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

. : b :
Statement I: Bulls require 12 m” covered area per animal.

: : 2 :
Statement II: Cows require 3.5 m™ covered area per animal.

In light of the above statements. choose the mest appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s mecorrect but Statement I 1s correct

o —

e o

Options :

1908893373. 1
1908893374. 2
1908893375. 3
1908893376. 4

Question Number : 119 Question Id : 190889860 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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A AT FUF BT AT § -

FUF - 1 TE F 12 TAART 97 T =0T T F HI2TFA Far 8
FUS - 1 A FT 3.5 FAA I 99 0T T H HTTRT ger g1
STF FUA F A F AT e # ¥ w5 o

1. Fu 13X 1= T &l
99 1R 134" 9 2
3. U IHE 2. e o e £
4. FYF 1790 ¢. g FIT 1 H £

Options :

| ]

1908893373. 1
1908893374. 2
1908893375. 3
1908893376. 4

Question Number : 120 Question Id : 190889861 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Water constitutes about 70 % of animal’s body weight.
Statement II: A loss of 7 to 10 % of body water results in death.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement 1T 15 correct

e o b =

Options :

1908893377. 1 Q collegedunias
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1908893378. 2
1908893379. 3

1908893380. 4

Question Number : 120 Question Id : 190889861 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g FuT Rrav e

FUT - 19 F T AT F T 70% Tl &1 £

FI4 - I gk # 7 A 10% ureft &t A geat & uRummzasy geg @t 2
S FU F T A PR R ¥ W s

I FuF 13T 139 T 2
2. FIF 1HT U3 794 £
3. FUF 16 2. e Fua Lo 2
4. FUF 1TET ¢ g T 1TEE

Options:

1908893377. 1
1908893378. 2
1908893379. 3
1908893380. 4

Question Number : 121 Question Id : 190889862 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedumag
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Read the following statements and choose the correct statements:
A. Anthrax disease 1s caused by virus,

B. Black quarter disease is caused by bactena.

C. Mastitis disease 1s caused by bacteria.

D. Coceidiosis disease 1s caused by parasite.

Choose the correct answer from the options given below:

1. A B.CandD

2. A BandC only

3. B,CandD only

4. A.CandD only
Options :

1908893381. 1
1908893382. 2
1908893383. 3
1908893384. 4

Question Number : 121 Question Id : 190889862 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedunlas
India’s largest Student Review Platform

~



FeaTo@a 99T 9feT 3T & FAAT FF ST
A U=3Fg SN fauy ganr aer §

B. SIS @R FANT SH=m0] Za0 g §

C. ¥terr FTATY ] ganT g &

D. FIFHIEAET FANT THET 3R g 2
@ T or et # ¥ W 3o 9+

1. A,B.CTd D
 FHET A.BUIC

[

[N

. #FFA B.C TI D
4. FIA A.CTI D

Options :

1908893381. 1

1908893382. 2

1908893383. 3

1908893384. 4

Question Number : 122 Question Id : 190889863 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedunlag
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Given below are two statements. one 15 labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Vitamin A deficiency 1s associated primarily with vision.

Reason R: Signs of Vitamin A deficiency are most likely to occur when cattle are fed high
concentrate diet.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A is not correct but R is correct

= el bl

Options :

1908893385. 1
1908893386. 2
1908893387. 3

1908893388. 4

Question Number : 122 Question Id : 190889863 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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AT 2 FUF T AT E - U FOAHFUF (A) HR TH FTFROT (R) FET A £
HEFu (A): FelE AH w6 gEvae e ¥ gT 8

FWOT (R): Maeht For3ft Ft 77 #fo vfem Frsor e smer Remar s & ar
FafEa A $F FAT F 7807 3797 217 £

FFT FUA F HAF # rAind ahod A ¥ T 3R 9

[a—

. (A)#R (R) 3 T E AR (R). (A) FT FEr @
(A)#R (R) T TET € Teg (R). (A) FT WET e 767 ¢
- (A) T € g (R) T A L

. (A)WEr T § g (R) T B

= L] [ -]

Options :

1908893385. 1
1908893386. 2
1908893387. 3

1908893388. 4

Question Number : 123 Question Id : 190889864 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the primary sex organ in female reproductive system m animals?

Vagina
Uterus

Ovary
Infundibulum

[

TSN

Options :

1908893389. 1
1908893390. 2
1908893391. 3

1908893392. 4 Q collegedunias
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Question Number : 123 Question Id : 190889864 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v 7 afef@a # § 9 9 767 F99 97 # JT©6 F99 7T 82

1. o=
2. ATy

3. HERE

4. fFEm
Options :
19088933809. 1
1908893390. 2
1908893391. 3
1908893392. 4

Question Number : 124 Question Id : 190889865 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

Animal species Length of estrous cycle
A. Cattle [.16—17 days

B. Sheep I1. 17 — 21 days

C. Goat I1L. 19 -20 days

D. Sow IV. 20-22 days

Choose the correct answer from the options given below:

A-IV.B-IIILC-IILD-1I
A-III.B-L.C-IV.D-1I
A-IV.B-LC-II.D-III
A-II.B-IV.C-III, D -1

Options :
Qcollegeduniag
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1908893394. 2
1908893395. 3

1908893396. 4

Question Number : 124 Question Id : 190889865 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=T -IHEET - § gATF HIST

=T -1 =T 10

(T FSTIer) (AT =% H 31
AT 1.16—17fea

B. &% m.17-21 %=

C. T 1M1 19 -20 f&=

D. gHEY v. 20-22 e

A T v et 7 ¥ WE 3o g0

A-IV.B-III.LC-II.D-1I
A-IIILB-IL.C-IV.D-1I
A-IV.B-1L.C-IILD-1III
A-IILB-IV.C-III.D -1

b

o

Options:

1908893393. 1
1908893394. 2
1908893395. 3

1908893396. 4

Question Number : 125 Question Id : 190889866 Question Type : MCQ Option Shuffling : No Is

°
Qcollegedumag
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Match List I with List IT

List I List IT

Milk Product Place

A. Khurchan I. North India
B. Payasum II. East India
C. Khirmohan 1. West India
D. Shrikhand IV. South India

Choose the correct answer from the options given below:

1. A-TM.B-1.C-IV.D-1II
2. A-ILB-IV.C-II.D-III
3. A-IILB-II.C-L.D-1IV
4, A-II.B-IV.C-IIL.D-I

Options :

1908893397. 1
1908893398. 2
1908893399. 3

1908893400. 4

Question Number : 125 Question Id : 190889866 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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T - IFEE 1w gEfes fifew

o - w1

(G7Y 3e91C) (FTeT)

A g 1 35 AR

B. TrHA IL 9ot 3R

C. grEE 111 9T9THT I E
D. Sr@ve IV. ST&0T ¥R

A< T 7T RBwewt & ¥ TEr 3cR g0

A-TILB-1L.C-IV.D-II
A-LB-IV.C-IILD-1II
A-IILB-NI.C-LD-IV
A-ILB-IV.C-III.D-I

Lad b

B

Options :

1908893397. 1
1908893398. 2
1908893399. 3

1908893400. 4

Question Number : 126 Question Id : 190889867 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What 1s the scientific name of desi cotton?

Gossypium hivsutum
Gossypium herbaceum
Gossypium arboreum
Gossypium barbadense

e L b e

Options :
1908893401. 1

1908893402. 2 Q collegedunias
1 908893403. 3 & India’s largest Student Review Platform



1908893404. 4

Question Number : 126 Question Id : 190889867 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s Fag T daEs a @ Fa71 8 ©

1. TAfT fRvgeH
2. oI EvefaTH
3. aEfOTE REIRTH
4. TIHOTH FREsT

Options :

1908893401. 1
1908893402. 2
1908893403. 3

1908893404. 4

Question Number : 127 Question Id : 190889868 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the cation exchange capacity of silicate clay?

3 to 150 Cmol (P7) / ke
120 to 180 Cmol (P7) / kg
20 to 240 Cmol (P") / kg
150 to 300 Cmol (P7) / kg

| ]

oW

Options :

1908893405. 1
1908893406. 2
1908893407. 3

1908893408. 4

°
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Question Number : 127 Question Id : 190889868 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rt s TFrg g T e £ ¢

1. 3 150 @A (P7)/ e

2. 120% 180 Hr.AMET (P / Foram
3. 20 % 240 WA (PO / A
4. 150 ¥ 300 €Y. AT (P") / [

Options :

1908893405. 1
1908893406. 2
1908893407. 3

1908893408. 4

Question Number : 128 Question Id : 190889869 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What 1s total pulse production in India?

15 nullion tonnes
20 million tonnes

| S

fad

25 million tonnes
30 nmullion tonnes

-

Options :

19088934009. 1
1908893410. 2
1908893411.3
1908893412. 4

Question Number : 128 Question Id : 190889869 Question Type : MCQ O )
% collegedunias
Question Mandatory . NO India’s largest Student Review Platform
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Correct Marks : 4 Wrong Marks : 1

AT T FoT Tolgd 39 FT § 2

i 3

4. 3oATaT &=
Options:
1908893409. 1
1908893410. 2

1908893411. 3

1908893412. 4

Question Number : 129 Question Id : 190889870 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Boro rice is photoperiod sensitive and grown under irrigated conditions.
Statement II: Most commonly grown wheat (Triticum aestivium) 1s a hexaploid (2n= 6x = 42).

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are meorrect
Statement I 15 correct but Statement II 1s meorrect
Statement I 1s incorrect but Statement IT 15 correct

| o

i

Options :
1908893413. 1
1908893414. 2

1908893415. 3
1908893416. 4 Q collegedunias
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Question Number : 129 Question Id : 190889870 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A= g FA GrAw £

FUT - 1 aX U TR FEY F 90 Tdeaehe v Rtw ity & s
iy

FUA - 1 : ACT § ¥ 3 AW qer W (GFH vaAlaH ) TF gFEes
(2n=6x=42) g1

IYFT FYA F HAF H TAET Shedt # ¥ WET 3o I ¢

. FYT 13T e 7 #
. FYF 13X 13 9T £

. FY 1T ¢, fheq 971 179 g
. FUF 1770 ¢, ] Fu NH 2

[

-

S )

Options :

1908893413. 1
1908893414. 2
1908893415. 3

1908893416. 4

Question Number : 130 Question Id : 190889871 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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Soil aggregate formation 1s largely functions of :

A. Silt and clay content

B. Microbial activity

C. Irreversible soil colloids
D. Organic matter content
E. Soil parent material

Choose the correct answer from the options given below:

A.B and C only
B. C and E only
A.B.C and D only
A.B.C.DandE

b

o

Options:

1908893417. 1
1908893418. 2
1908893419. 3
1908893420. 4

Question Number : 130 Question Id : 190889871 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893417. 1
1908893418. 2
1908893419. 3

1908893420. 4

Question Number : 131 Question Id : 190889872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:

A. A deficiency of the essential nutrient results in failure to complete life cycle.
B. The essential elements must have direct effect on growth and metabolism.
C. Deficiency of essential element cannot be corrected.

D. Plant nutrient essentiality criteria has been given by Amon and Stout.

Choose the correct answer from the options given below:

1. A.BandD only

2. B.CandD only

3. A.CandD only

4. A.B.,CandD
Options:

1908893421. 1
1908893422. 2
1908893423. 3

1908893424. 4

Question Number : 131 Question Id : 190889872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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[
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Options:

1908893421. 1
1908893422. 2
1908893423. 3
1908893424. 4

Question Number : 132 Question Id : 190889873 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
Qcollegedunlag
India’s largest Student Review Platform

~



Given below are two statements

Statement I: Crop water requirement 1s the quantity of water required for their normal growth
and yield.

Statement II: Irrigation requirement is the quantity of water applied to crops to supplement
rainfall and soil profile moisture.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement I are mcorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement IT 15 correct

e o b

Options :

1908893425. 1
1908893426. 2
1908893427.3
1908893428. 4

Question Number : 132 Question Id : 190889873 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e

Options :

1908893425. 1
1908893426. 2
1908893427. 3

1908893428. 4

Question Number : 133 Question Id : 190889874 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I wath List IT

List I List II
‘Water quality Suitable crop
\A. Low salinity water I Wheat

B. Medium salinity water 1I. Apple

C. Saline water I11. Sﬁga:‘beet
D. Normal water IV, Alfalfa

Choose the correct answer from the options given below:

A-IMMLB-IV.C-ILLD-1I
A-ILB-IV.C-III.D-1I
A-IV.B-III.C-1.D-1I
A-IV.B-ILC-ILLD-I

T b

-

Options :

1908893429. 1
1908893430. 2
1908893431. 3

1908893432. 4

Question Number : 133 Question Id : 190889874 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IF = -0 § gRfed fifsT

T -1 = -II

.(tnF-ﬁ‘ #r 7urEed) (39gFT FHA)
A. FH FIUET T TI=T ITIE

B. HETH FEUTET e OTE . &

C. TE0T T L e

D. IR 91T . ==

drer fow T ot & ¥ W 3eaw IAv

A-III.B-IV.C-II.D-1I
A-ILB-IV.C-III.D-II
A-IV.B-III.LC-1.D-II
A-IV.B-III.C-II.D-1I

= L b

Options :

1908893429. 1
1908893430. 2
1908893431. 3
1908893432. 4

Question Number : 134 Question Id : 190889875 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Herbicide mixture broadens the spectrum of herbicidal action for controlling
weeds.

Statement IT: Independent and antagonistic effect of herbicide mixture inereases the weed
control efficiency.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s mcorrect
Statement I 1s incorrect but Statement II 1s correct

e o b

Options :

1908893433. 1
1908893434. 2
1908893435. 3

1908893436. 4

Question Number : 134 Question Id : 190889875 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893433. 1
1908893434. 2
1908893435. 3
1908893436. 4

Question Number : 135 Question Id : 190889876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

While applying herbicide on a 40 em wide band 1n a 60 em row spacing crop. how much
herbicide required for 1 ha area, if application rate 1s 4.5 lit/ ha?

2.0 1t/ ha
3.0 lit/ ha
4.0 it/ ha
6.0 it/ ha

e Lad D

Options :
1908893437. 1
1908893438. 2

1908893439. 3 Q Icﬂq{llegggacf{lunygg
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1908893440. 4

Question Number : 135 Question Id : 190889876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9fFd § Tfed $T T 60 TAT T ol FHeT HT 40 TAT T TF F 45 F T E
Aeamelt F 9O FF F U G ar $r smEeasar aef o

1. 209 /8.
2. 3.0%/ &
3. 408/ &
4. 607/ .

Options:

1908893437. 1
1908893438. 2
1908893439. 3
1908893440. 4

Question Number : 136 Question Id : 190889877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT
‘Weed Origin
A. Eichhornia crassipes [L. Furasia
B. Lanama camara I1. Europe
C. Convolvulus arvensis I11. Brazil

D. Orobanche 5p. I'V. Central America

Choose the correct answer from the options given below:

1. A-LB-IILC-IIILD-1IV

2. A-IIILB-IV.C-1.D-II

3. A-IV.B-III.C-II.D-1I

4. A-IV.B-III.C-1.D-1II
Options :

1908893441. 1
1908893442. 2
1908893443. 3

1908893444. 4

Question Number : 136 Question Id : 190889877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A feT ar fsedt & ¥ §Er 3e) AT

A-ILB-IILC-IIILD-IV
A-TMB-IV.C-1.D-II
A-IV.B-IIILC-II.D-I
A-IV.B-III.C-1.D-II

LI R

s

Options :

1908893441. 1
1908893442. 2
1908893443. 3
1908893444. 4

Question Number : 137 Question Id : 190889878 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:
A. Adsali sugarcane takes 12 months for harvesting.

B. Cover crops generally grow fast and cover the surface and help in reducing loss of moisture
and so1l erosion.

C. Aman rice 1s mainly transplanted rice and grown 1 pre-monsoon period in the deep water
areas.

D. Mixed cropping 1s the growing of two or more crops simultaneously on the same piece of

land.

E. Retting 1s a microbial process.
Choose the correct answer from the options given below:

. A.Band Conly
. B,D and E only
. B.CandD only
C.D and E only

d ek

S

Options :

1908893445. 1
1908893446. 2
1908893447.3

1908893448. 4

Question Number : 137 Question Id : 190889878 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. F@ B.CHR D
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Options :

1908893445, 1
1908893446. 2
1908893447. 3

1908893448. 4

Question Number : 138 Question Id : 190889879 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: High densities of crop plants may increase protein and o1l content in grains.
Statement II: In general. high densities of crop plants are not conducive for pests and diseases.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement I 1s correct

| -

o

Options :

1908893449. 1
1908893450. 2
1908893451. 3

1908893452. 4

Question Number : 138 Question Id : 190889879 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT 2T FuF GT AT £

FUS - 1. FHAT 9T FT 357 GUATT AT H IIEF U A T A H 927 Fhar
gl

FUF - 11 ARG FHAT Sl $ 3= Foaar Hiet 06 dAEr & o dqgd
e I &l

3TIFT FU & A & faeferea e # ¥ 7 3w o

I FUF 13T 1g&r T8 £
). FUF 1A D3 797 &
3. FYF 1F ¢ Feg F99 1700 g
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Options :

1908893449. 1
1908893450. 2
1908893451. 3

1908893452. 4

Question Number : 139 Question Id : 190889880 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Addition of potassium metabisulphite is avoided in coloured juices and pulp.
Reason R: Potassium metabisulphite has tendency to bleach natural colour of product.
In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A is not correct but R 1s correct

b —

=S )

Options :

1908893453. 1
1908893454. 2
1908893455. 3

1908893456. 4

Question Number : 139 Question Id : 190889880 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FROT (R): MERTR ATCEEHHES H TFaF T 3e91er 31 31 33 H T fed
A &1

34T FUA F HAF H A Fwed & ¥ W e I

[

- (A) AT (R) S T E AT (R). (A) F FET <ATET £

- (A) IR (R) 3 TN E T (R). (A) T WET AT A L
(A) T E T (R WE AL

. (A)WE 7 T (R)FE 2

4= L] | S

Options:

1908893453. 1
1908893454. 2
1908893455. 3
1908893456. 4

Question Number : 140 Question Id : 190889881 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many plants of mango can be planted in one hectare area 1if row to row and plant to plant
spacing 15 8 meter?

156
146
3. 176
4. 640

Ko b

Options :
1908893457. 1

1908893458 2
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1908893460. 4

Question Number : 140 Question Id : 190889881 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F RN AT A F S N T T I f N FIN T FAIRN @ I
e & gl s AT & o

156
146
176
040

I o B

Options :

1908893457. 1
1908893458. 2
1908893459. 3

1908893460. 4

Question Number : 141 Question Id : 190889882 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Birbal Sahani and Vasantika are cultivars of which among the following crop?

Chrysnathemum

bl

Tuberose
Marigold
Gladiolus

FERRTE

Options :

1908893461. 1
1908893462. 2
1908893463. 3

1908893464. 4
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Question Number : 141 Question Id : 190889882 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fiTaer Al U9 g0fas S a 7 ¥ Sy vga & Fe & 2

1. I[EeT3er

2. THAAETT

3. #er

4. TfETOeg
Options :

1908893461. 1
1908893462. 2
1908893463. 3

1908893464. 4

Question Number : 142 Question Id : 190889883 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Hybrid Tea and Floribunda roses are generally propagated by cutting.
Statement II: The rose rootstocks used in India are propagated by stem cuttings.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct

Both Statement I and Statement II are mcorrect
Statement I 15 correet but Statement II 15 imcorrect
Statement I 1s incorrect but Statement IT 1s correct

e b

it

Options :
1908893465. 1

1908893466. 2 .
% collegedunias
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1908893468. 4

Question Number : 142 Question Id : 190889883 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FF RUT AT E

FUT - 1. g% & 19 Foliaws e F 9T TEETAd oA 9w g

FUF - [1: ¥R & T@E & Hogd 1 997 Foid ZaRT [ohalr S
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1. ¥ 1AT 1=t T 2
. FUF 13T 1A T £
3. FYF 1FE ¢ e FUF 179 £
4. FYF 1704 ¢, e FUT T &

Options :

1908893465. 1
1908893466. 2
1908893467. 3

1908893468. 4

Question Number : 143 Question Id : 190889884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Budding 1s a method of vegetative propagation in which a twig 1s inserted in the
rootstock.

Statement IT: T-budding 1s also known as shield budding.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement II 1s mcorrect
Statement I 1s incorrect but Statement II 1s correct

| R =

P o

Options :

19088934609. 1
1908893470. 2
1908893471.3
1908893472. 4

Question Number : 143 Question Id : 190889884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ay g Fua T aw ¢

FUT - 1. Foraa 0 qaedias gaua $1 fafr & Tt omar #t q@ges #
yfaeanfa fFar a8
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1. YT 1R I3 Tar &l
2. FUF AR LIH 79T 2
3. FY9 182 £ g Fu9 1794 8
4. FUT 177009 ¢ Feg Fu LEE &

°
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1908893469. 1
1908893470. 2
1908893471. 3

1908893472. 4

Question Number : 144 Question Id : 190889885 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Maximum number of plants can be accommodated in quincunx system of planting.
Reason R: Contour system 1s used 1n hilly area for planting,
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R is NOT the correct explanation of A
A 15 correct but R 1s not correct

A s not correct but R s correct

b =

e

Options :

1908893473. 1
1908893474. 2
1908893475. 3
1908893476. 4

Question Number : 144 Question Id : 190889885 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893473. 1
1908893474. 2
1908893475. 3
1908893476. 4

Question Number : 145 Question Id : 190889886 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:
A. Chakradhar is a thornless variety of lime.

B. Citrus reticulata is loose skinned oranges.

C. Rasraj is canker resistant variety of lime.

D. Fruit granulation in citrus is a fungal disease.

E. Pineapple and Hamlin are cultivars of sweet orange.

Choose the correct answer from the options given below:

A.B. CandD only

B.C. D andE only

A.B.D andE only
A.B. C andE only

e L B

Options :

1908893477. 1
1908893478. 2
1908893479. 3

1908893480. 4

Question Number : 145 Question Id : 190889886 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893477. 1
1908893478. 2
1908893479. 3

1908893480. 4

Question Number : 146 Question Id : 190889887 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT
EC.‘r-:}pn Associated
A. Cauliflower 1. Pod

B. Bottle gourd II. Pepo

C. Tomato (III. Berry
D. Okra IV. Curd

Choose the correct answer from the options given below:

A-IB-IILC-IV.D-III
A-IV.B-IIILC-IL.D-1I
A-IV.B-II.C-III.D -1
A-ILB-IILC-II.D-IV

| S ]

5w

Options :

1908893481. 1
1908893482. 2
1908893483. 3
1908893484. 4

Question Number : 146 Question Id : 190889887 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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b

p

Options :

1908893481. 1
1908893482. 2
1908893483. 3

1908893484. 4

Question Number : 147 Question Id : 190889888 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements and choose the correct statements:

A. Kishenbhog 1s a popular mid-season mango variety of West Bengal.
B. Bombay Green 1s one of the earliest mango varieties of North India.
C. Kesar 1s a popular mango variety of Maharashtra.

D. Dashar is a regular bearing mango variety.

E. Langra 1s a commercial mango variety of North India.

Choose the correct answer from the options given below:

1. A.BandE only

2. A.DandE only

3. B.CandD only

4. A.CandE only
Options :

1908893485. 1
1908893486. 2
1908893487. 3
1908893488. 4

Question Number : 147 Question Id : 190889888 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893485. 1
1908893486. 2
1908893487. 3

1908893488. 4

Question Number : 148 Question Id : 190889889 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Grape 1s mostly propagated by which of the following method?

Semi-hardwood cutting
Soft wood cutting
Root cutting

|

¥ %)

4. Hard-wood cutting
Options:
1908893489. 1 :
% collegedunias
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1908893491. 3
1908893492. 4

Question Number : 148 Question Id : 190889889 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IR H1 FTOwE: gaua faed # ¥ 9 B gaw G s €0

1. 3% §&T F°3 FaH
. Ag - FTS FaAA

3. 3 FoH
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Options :

19088934809. 1
1908893490. 2
1908893491. 3
1908893492. 4

Question Number : 149 Question Id : 190889890 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arka Bindu and Arka Pragati are cultivars of which vegetable?

Brinjal
Onion
Tomato
Carrot

| S

Ao

Options:
1908893493. 1
1908893494. 2

1908893495. 3 Q collegedunias
1908893496. 4 i



Question Number : 149 Question Id : 190889890 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

31 g U9 e yAta FRw geer #r e € 0

1. &9
2. w3
3. THART
4. IMAT
Options :

1908893493. 1
1908893494. 2
1908893495. 3
1908893496. 4

Question Number : 150 Question Id : 190889891 Question Type

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Read the following statements and choose the correct statements:
A. In India. highest tomato producing state 1s M.P.
B. In India. highest productivity of tomato 1s in Karnataka.
C. Odisha has maximum area of tomato 1n India.
D. Andhra Pradesh has maximum productivity of tomato.

E. West Bengal has the highest area under tomato in India.

Choose the correct answer from the options given below:

1. B.D andE only
2. A.BandC only
3. A.CandD only
4. A.D andE only

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is

°
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Options :

1908893497. 1
1908893498. 2
1908893499. 3
1908893500. 4

Question Number : 150 Question Id : 190889891 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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